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TNPSC GROUP I TEST BATCH 2024 

TEST III – 6 - 12TH POLITICAL SCIENCE 
 

1. Choose the right answer/answers about Indian constitution and its constituent 
assembly 
i. 15 Women members were present in the assembly 
ii. H.V.R. Iyengar was secretary of constituent assembly. 
a. i only    b. ii only    c. i and ii  
d. None of the above e. Answer not known 
,e;jpa murpayikg;G kw;Wk; murpay; eph;za rigiag; nghWj;J rhpahd 
tpilfisj; Njh;T nra;f. 
i. eph;za rigapy; 15 ngz; cWg;gpdh;fs; ,Ue;jdh; 
ii. murpay; eph;za rigapd; nrayuhf HVR Iaq;fhu; nray;gl;lhh; 
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii 
d. VJkpy;iy   e. tpil njhpatpy;iy 

 
2. Consider the following 

Assertion (A) : Representative democracy is being followed in USA and India 
Reason (R): People can be involved directly in law making 
a. Both (A), (R) are true and (R) is the correct explanation of A 
b. Both (A), (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, (R) is false 
d. (A) is false, (R) is true 
e. Answer not known 
gpd;tUtdtw;iw Muha;f 
$w;W (A): mnkhpf;fhtpYk; ,e;jpahtpYk; gpujpepjpj;Jt kf;fshl;rp Kiw 
gpd;gw;wg;gLfpwJ 
fhuzk; (R): rl;lk; ,aw;Wtjpy; kf;fs; Neubahf <LgLfpd;wdh; 
a. (A)> (R) ,uz;Lk; rhp> (R) MdJ (A) d; rhpahd tpsf;fk;  
b. (A), I ,uz;Lk; rhp> (R) MdJ (A) d; rhpahd tpsf;fky;y 
c. (A) rhp> (R) jtW 
d. (A) jtW> (R) rhp 
e. tpil njhpatpy;iy 

 

3. Consider the following statements regarding democracy in the world 
I. Switzerland was the first country to allow women to vote 
II. UNO General assembly resolved to observe 15th September as 

International Day of Democracy in 2020. 
Which of the above statement is/are correct? 
a. I only    b. II only    c. Both I and II 
d. Neither I nor II  e. Answer not known 
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cyfpd; kf;fshl;rp njhlh;ghd gpd;tUk; $w;Wfis MuhaTk;. 
I. ngz;fSf;F thf;fspf;f mDkjp toq;fpa Kjy; ehL Rtpl;rh;yhe;J 
II. UNO nghJr;rig nrg;lk;gh; 15 Mk; Njjpia rh;tNjr kf;fshl;rp jpdkhf 

filgpbf;f 2020 y; jPh;khdpj;jJ 
Nkw;fz;l $w;Wfspy; rhpahdJ vJ? 
a. I kl;Lk;    b. II kl;Lk;   c. I, II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lkpy;iy e. tpil njhpatpy;iy 

 
4. Consider the following statements with respect to languages of India 

i. Indian constitution recognizes twenty-two languages as official languages 
ii. As per 2011 census, Hindi is spoken by more than 50% of population. 
Which of the above statement is/are correct? 
a. i only    b. ii only    c. Both I and ii  
d. Neither i nor ii  e. Answer not known 
,e;jpahtpd; nkhopfs; gw;wpa gpd;tUk; $w;Wfis MuhaTk;. 
i. ,e;jpa murpayikg;Gr; rl;lk; 22 nkhopfis mjpfhug;G+h;t nkhopfshf 

mq;fPfhpj;Js;sJ 
ii. 2011 kf;fs; njhif fzf;nfLg;gpd;gb> 50% f;Fk; mjpfkhd kf;fshy; 

,e;jp nkhop Ngrg;gLfpwJ. 
a. i kl;Lk;    b. ii kl;Lk;   c. i>ii ,uz;Lk; 
d. i kw;Wk; ii ,uz;Lkpy;iy e. tpil njhpatpy;iy 

 

5. Which of the following is correctly matched with respect to classical language 
status. 
I. Tamil – 2004 
II. Sanskrit – 2005 
III. Telugu – 2006 
IV. Odia – 2016 
How many pairs given above are correctly matched? 
a. Only one pair   b. Only two pairs   c. Only three pairs  
d. all four pairs  e. Answer not known 
nrk;nkhop me;j];ijg; nghWj;J gpd;tUtdtw;wpy; rhpahfg; nghUe;JtJ vJ? 
I. jkpo; - 2004 
II. rk];fpUjk; - 2005 
III. njYq;F – 2006 
IV. xbah – 2016 
Nkw;fz;l ,izfspy; rhpahfg; nghUe;JtJ vJ? 
a. xNu xU ,iz  b. ,U ,izfs; kl;Lk; c. 3 ,izfs; kl;Lk; 
d. 4 ,izfSk;  e. tpil njhpatpy;iy 

 

6. On which of the following days Gram Sabha meetings held in Tamil Nadu? 
1. January 26   2. March 22   3. May 1 
4. October 2   5. August 15   6. November 1 
Which of the following dates are correct? 
a. All the above   b. 1,3,4,5 only   c. 1,2,3,4 only  
d. 1,2,3,4,5 only  e. Answer not known 
fPo;f;fz;l ehl;fspy; ve;j ehl;fspy; jkpo;ehl;by; fpuhkrig $l;lk; eilngWfpwJ? 
1. [dthp 26   2. khh;r; 22   3. Nk 1 
4. mf;Nlhgh; 2  5. Mf];l; 15   6. etk;gh; 1 
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gpd;tUk; Njjpfspy; rhpahdJ vJ? 
a. Nkw;fz;l midj;Jk; b. 1> 3> 4> 5 kl;Lk;  c. 1> 2> 3> 4 kl;Lk;   
d. 1> 2> 3> 4> 5 kl;Lk; e. tpil njhpatpy;iy 

 
7. Consider the following 

Assertion (A) : The value of vote of the Prime Minister and the value of vote of 
common man in general election is same in India 
Reason (R): Political equality is guaranteed in the constitution through Article 
325, 326 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
c. (A) is true, but (R) is false 
d. (A) is false, but (R) is true 

 e. Answer not known 
 $w;W (A) : ,e;jpa nghJj; Njh;jypy; gpujkhpd; thf;F kjpg;Gk;> xU 

nghJkf;fspd; thf;F kjpg;Gk; rkNk MFk;. 
fhuzk; (R) :  murpayikg;gpd; 325> kw;Wk; 326 ~uj;Jfs; %yk; murpay; 
rkj;Jtk; cWjp nra;ag;gl;Ls;sJ. 

 a. (A) (R) ,uz;Lk; rhp> (R) MdJ (A) d; rhpahd tpsf;fk; 
 b. (A) (R) ,uz;Lk; rhp> (R) MdJ (A) d; rhpahd tpsf;fky;y 
 c. (A) rhp> (R) jtW  
 d. (A) jtW> (R) rhp 
 e. tpil njhpatpy;iy 
 

8. Match the following 
Name of the Party   Symbol 
A. Shiv Sena     1. Ladder 
B. Janata Dal (U)    2. Arrow 
C. Indian union Muslim league  3. Bow and Arrow 
D. Samajwadi   4. Banyan Tree 

A B  C D 
a.  1  2  3 4 
b.  3  2  1 4 
c.  4 3 2 1 
d.  3 4 1 2 
e. Answe not known 
nghUj;Jf. 
fl;rpapd; ngah;   rpd;dk; 
A. rptNrdh    1. Vzp 
B. [djh jsk; JD (U)  2. mk;G 
C. ,e;jpa A+dpad; K];ypk; yPf; 3. tpy; kw;Wk; mk;G 
D. rkh[;thjp    4. Mykuk; 
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A B  C D 
a.  1  2  3 4 
b.  3  2  1 4 
c.  4 3 2 1 
d.  3 4 1 2 
e. tpil njhpatpy;iy 

 
9. With reference to Universal Declaration of Human Rights (UDHR), which of the 

following is/are correct? 
1. UDHR was adopted by UNGA (UN General Assembly) in 1948 
2. 10th November is observed as Human Rights Day 
3. UDHR is also known as Magna Carta of Human rights 
4. UDHR is the most translated document in the world 
a. 1, 2 and 3 only   b. 1 and 3 only    c. 1, 3 and 4 only  
d. All the above  e. Answer not known 
kdpj chpikfs; njhlh;ghd cyfshtpa gpufldj;jij (UDHR) gw;wpa rhpahd  
$w;Wfisf; fhz;f 
1. UDHR> 1948 y; UNGA (UN Ieh nghJr;rig) ahy; Vw;Wf;nfhs;sg;gl;lJ 
2. etk;gh; 10 Mk; Njjp kdpj chpikfs; jpdkhf mDrhpf;fg;gLfpwJ 
3. UDHR kdpj chpikfspd; kfhrhrdk; vdg;gLfpwJ 
4. UDHR vd;gJ cyfpNyNa mjpfk; nkhopngah;f;fg;gl;l MtzkhFk; 
a. 1>2 kw;Wk; 3 kl;Lk;  b. 1>3 kl;Lk;   c. 1>3>4 kl;Lk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
10. Which of the following is correctly matched 

1. Dowry prohibition Act - 1961 
2. Hindu Marriage Act - 1956 
3. Hindu Succession Act - 1955 
4. Eve-teasing Act - 1998 
a. 1 and 2 only   b. 1 and 3 only    c. 1 and 4 only  
d. All the above  e. Answer not known 
gpd;tUtdtw;wpy; rhpahfg; nghUe;JtJ vJ? 
1. tujl;rid jLg;Gr; rl;lk; - 1961 
2. ,e;J jpUkz rl;lk; - 1956 
3. ,e;J thhpRhpikr; rl;lk; - 1955 
4. <t;-Brpq; rl;lk; - 1998 
a. 1>2 kl;Lk;   b. 1> 3 kl;Lk;   c. 1>4 kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
11. With reference to High courts in India, which of the following statements is/ are 

correct? 
1. High court has been empowered to issue writ for enforcement of 

fundamental rights only. 
2. Like the supreme court, the high court cannot act as a court of record. 
a. 1 only   b. 2 only   c. Both 1 & 2   
d. Neither 1 nor 2  e. Answer not known 

  



 

5 | Page  044-24339436, 42867555, 9840226187 
 

,e;jpahtpd; cah;ePjpkd;wk; Fwpj;j gpd;tUk; $w;Wfspy; rhpahdJ/it vJ/vit? 
1. mbg;gil chpikfis typAWj;j kl;LNk cah;ePjpkd;wq;fs; ePjpg; 

Nguhizfis gpwg;gpf;fyhk;. 
2. cr;rePjpkd;wj;ijg; Nghy cah;ePjpkd;wj;jhy; tof;Fg; gjpNtLfspd; Mjhur; 

rhd;whf tpsq;f ,ayhJ. 
a. 1 kl;Lk;    b. 2 kl;Lk;  c. 1 kw;Wk; 2 ,uz;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;y  e. tpil njhpatpy;iy 

 
12. Which of the below are not correctly matched? 

1. Maharastra  - Bicameral legislature 
2. Tamil Nadu  - Unicameral legislature 
3. Andhra Pradesh  - Bicameral legislature 
4. Bihar   - Unicameral legislature 
a. 1 only   b. 1, 3 only    c. 4 only 
d. All are incorrect  e. Answer not known 
gpd;tUtdtw;Ws; vit jtwhfg; nghUe;jpAs;sd? 
1. kfhuh~;buh  - <uit rl;lkd;wk; 
2. jkpo;ehL   - Xuit rl;lkd;wk; 
3. Me;jpu gpuNjrk;  - <uit rl;lkd;wk; 
4. gPfhh;   - Xuit rl;lkd;wk; 
a. 1 kl;Lk;   b. 1> 3 kl;Lk;   c. 4 kl;Lk; 
d. midj;Jk; jtW  e. tpil njhpatpy;iy 

 

13. Regarding Indian citizenship, consider the following statements: 
1. Constitution deals with Indian citizenship from articles 5 – 11 under part II. 
2. Indian constitution is federal, dual polity and provides for dual citizenship. 
3. In India both citizen by birth and naturalized citizen are eligible for the office 

of president. 
Which of the above statement are wrong? 
a. 1 only                 b. 2 only                   c. 1 and 3 only            
d.1, 2 and 3          e. Answer not known     
,e;jpaf; FbAhpik Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,e;jpaf; FbAhpik gw;wp murpayikg;gpd; ,uz;lhtJ gFjpapy; 5 Kjy; 11 

tiuapyhd ruj;Jfs; Fwpg;gpLfpd;wd. 
2. ,e;jpa murpayikg;ghdJ> $l;lhl;rp mikg;G> ,ul;il murhq;fk; kw;Wk; 

,ul;ilf; FbAhpikiaf; nfhz;Ls;sJ. 
3. ,e;jpahtpy; gpwg;ghNyh my;yJ ,ay;ghNyh FbAhpik ngWk; ve;jnthU 

FbkfDk; FbauRj; jiytuhf jFjp ngw;wth; Mthh;. 
Nkw;fz;l $w;Wfspy; jtwhdit vit? 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 

14. Choose the correct statements: 
1. Electoral system in India adopted from the system followed in united states 

of America. 
2. VVPAT, NOTA were introduced in 2014 general election. 
3. Election commission of India, at present, a one-member commission. 
a. 1 and 2 only  b. 2 only   c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f. 
1. ,e;jpahtpd; Njh;jy; Kiw> mnkhpf;f If;fpa ehLfspd; KiwapypUe;J 

ngwg;gl;lJ. 
2. VVPAT kw;Wk; NOTA> 2014 Mk; Mz;L nghJj;Njh;jypy; 

mwpKfg;gLj;jg;gl;lJ. 
3. jw;Nghija ,e;jpa Njh;jy; Mizak;> xU egh; MizakhFk;. 
Nkw;$wpa $w;Wfspy; rhpahdJ/it vJ/vit? 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk;  
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
15. Consider the following statements regarding RTI, (Right to information Act) 

1. It is a revolutionary act to promote transparency, passed on 15 June 2005. 
2. Information must be provided within twenty days. 
3. If reply is not given within time limit, an appeal can be filed with appellate 

authority. 
4. The RTI Act came into force from 12th October, 2005 
Which of the above statement is/are correct? 
a. All the above  b. 2, 3     c. 2, 3, 4 
d. 1, 3, 4   e. Answer not known 
jfty; mwpAk; chpikr;rl;lk; Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,J ntspg;gilj; jd;ikiaf; nfhz;L tUtjw;fhf [{d; 15> 2005 md;W 

,aw;wg;gl;l xU Gul;rpfukhd rl;lkhFk;. 
2. jfty;fs; 20 ehl;fSf;Fs; toq;fg;gLjy; Ntz;Lk;. 
3. Fwpg;gpl;l fhy tuk;Gf;Fs; gjpy; ngwg;gltpy;iy vdpy;> tpz;zg;gj;ij 

Nky;KiwaPLf;F mDg;gyhk;. 
4. ,e;j jfty; mwpAk; chpikr; rl;lk; mf;Nlhgh; 12> 2005 md;W eilKiwf;F 

te;jJ 
Nkw;$wpa $w;Wfspy; rhpahdJ/it vJ/vit? 
a. Nkw;$wpa midj;Jk; b. 2> 3   c. 2> 3> 4 
d. 1> 3> 4   e. tpil njhpatpy;iy 

 
16. Match the following committees of Panchayat Raj with its recommendation or 

observation. 
Committee    Recommendations 
A. Balwant Rai Mehta  1. Compared LSG without development 
      procedures to grass without roots 
B. Ashok Mehta         2. 2tier system 
C. GVK Rao    3. 73rd, 74th amendment act of in 1992 
D. LM Singhvi          4. 3 tier system 
 A B C D  
a. 2 4 3 1 
b. 2 4 1 3 
c. 4 2 1 3 
d. 4 2 3 1 
e. Answer not known 
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gQ;rhaj;J mikg;GfSf;fhd FOf;fSld; mjd; ghpe;Jiufis nghUj;Jf. 
FO     ghpe;Jiu 
A. gy;te;j;uha; Nkj;jh 1. cs;shl;rp mikg;Gfs; Ntuw;w Gw;fSld;  

xg;gplg;gl;lJ. 
B. mNrhf; Nkj;jh  2. ,uz;L mLf;F Kiw 
C. [p.tp.Nf. uht;  3. 73tJ kw;Wk; 74tJ murikg;G jpUj;jr; rl;lq;fs; 
D. vy;.vk;. rpq;tp  4. %d;W mLf;F mikg;G 

A B C D  
a. 2 4 3 1 
b. 2 4 1 3 
c. 4 2 1 3 
d. 4 2 3 1 
e. tpil njhpatpy;iy 

 

17. With reference to fundamental rights, Consider the following statement:  
1. Part III of Indian constitution are sourced from ‘Bill of rights’ of England 
2. Right to privacy is protected as intrinsic part under Article 21. 
3. Fundamental Rights in Indian constitution is not absolute. 
Which of the above statements is/are correct? 
a. 1 and 2 only  b. 2 and 3 only   c. 1 and 3 only 
d. 1, 2, and 3   e. Answer not known 
mbg;gil chpikfs; Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,e;jpa murpayikg;gpd; %d;whtJ gFjp ,q;fpyhe;jpd; chpikfs; 

kNrhjhtpypUe;J vLf;fg;gl;lJ. 
2. jdpAhpikahdJ ruj;J -21-d; cs;shh;e;j xU gFjpahFk;. 
3. ,e;jpa murpayikg;gpd;> mbg;gil chpikfs; epge;jidaw;wJ my;y. 
Nkw;$wpa $w;Wfspy; rhpahdJ / it vJ / vit? 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
c. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 

18. Consider the following pairs: 
Constitutional provision  source 
1. DPSP    - Irish 
2. Rule of law   - Britain 
3. Justice    - French 
4. Amendment procedure  - Australia 
Which of the above pairs are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
murikg;G tpjp   %yk; 
1. topfhl;L newpKiwfs; - mah;yhe;J 
2. rl;lj;jpd; Ml;rp  - gphpl;ld; 
3. ePjp    - gpuQ;R 
4. murikg;G jpUj;j Kiw - M];jpNuypah 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,U ,izfs; kl;Lk; 
c. %d;W ,izfs; kl;Lk;  d. midj;J 4 ,izfSk; 
e. tpil njhpatpy;iy 
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19. Consider the following pairs: 
Constitutional  
amendment act  Provision 
1. 99th  -National Judicial Appointments commission (NJAC) 
2. 100th  - Land boundary agreement of India, Bangladesh 
3. 101st   - Goods and service tax (GST) 
4. 102nd   - Constitutional status to NCBC-National commission for  

  Backward classes. 
How many of the above pairs are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
murikg;Gj;  
jpUj;jr; rl;lk;  mk;rk; 
1. 99tJ - Njrpa ePjpgjpfs; epakd Mizak; (NJAC) 
2. 100tJ - ,e;jpah> tq;fhs Njrj;jpw;F ,ilahd epy vy;iy xg;ge;jk; 
3. 101tJ - ruf;F kw;Wk; Nrit thp (GST) 
4. 102tJ - Njrpa gpw;gLj;jg;gl;Nlhu; Mizaj;jpw;fhd murpayikg;G  

me;j];J  (NCBC) 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,uz;L ,izfs; kl;Lk; 
c. %d;W ,izfs; kl;Lk;  d. midj;J ,izfSk; 
e. tpil njhpatpy;iy 
 

20. Consider the following pairs: 
Personality   position in the constituent assembly 
1. Dr. Sachidanand Sinha - Temporary President 
2. B.N. Rau   - Constitutional advisor 
3. H.C. Mukherjee  - Vice president 
4. Dr.B.R. Ambedkar - Chairman of Drafting committee  
Which of the above pairs is/are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
egh;    murikg;G eph;za rigapy; jFjp 
1. Dr. rr;rpjhde;j rpd;fh - jw;fhypf jiyth; 
2. B.N. uht;    - murpayikg;G MNyhrfh; 
3. H.C. Kfh;[p  - Jizj; jiyth; 
4. Dr. B.R. mk;Ngj;fh;  - rl;l tiuTf; FO jiyth; 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,U ,izfs; kl;Lk; c. %d;W ,izfs; kl;Lk; 
d. midj;J ,izfSk; e. tpil njhpatpy;iy 

 
21. With reference to preamble of the Indian constitution, consider the following 

statements: 
1. It contains summary or preface of the constitution. 
2. It clearly implies that the constitution derives authority from people of India. 
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3. In Kesavananda Bharati case, 1973, supreme court proclaimed it is an integral 
part of constitution. 

4. It is justiciable in court of law. 
Which of the statements is/are not correct? 
a. 1 and 2 only  b. 2 only   c. 3 and 4 only 
d. 4 only   e. Answer not known 
,e;jpa murpayikg;gpd; KfTiu Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,J murpayikg;gpd; RUf;fk; my;yJ rhuhk;rj;ijf; nfhz;lJ. 
2. ,J ,e;jpa murpayikg;G jdJ mjpfhuj;ij kf;fsplkpUe;J ngWtijj; 

njspTgLj;JfpwJ. 
3. 1973 Nfrthde;j ghujp tof;fpy;> cr;rePjpkd;wk; ,ij murpayikg;gpd; 

xUq;fpize;j gFjpahf mwptpj;jJ. 
4. ,J ePjpkd;wj;jpy; tof;fpl;L epiyehl;lf; $baJ. 
Nkw;$wpa $w;Wfspy; jtwhdJ/it vJ/vit? 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kl;Lk;   c. 3 kw;Wk; 4 kl;Lk; 
d. 4 kl;Lk;   e. tpil njhpatpy;iy 

 
22. Consider the following statement regarding languages of India in Indian 

constitution. 
1. 14 regional languages were included in eighth schedule in original 

constitution. 
2. Part XVI deals with official languages from Articles 343 to 351. 
3. First committee of official language was appointed in 1955 under B G Kher. 
Which of the above statements is/are correct? 
a.1 only   b. 1 and 2 only  c. 1 and 3 only 
d. 1, 2 and 3   e. Answer not known 
,e;jpa murpayikg;gpy; cs;s ,e;jpa nkhopfs; Fwpj;j gpd;tUk; $w;Wfis 
Ma;f. 
1. jpUj;jg;glhj murpayikg;gpd; vl;lhtJ gl;baypy; 14 tl;lhu nkhopfs; 

,lk;ngw;wpUe;jd. 
2. gFjp XVI ,y; 343 Kjy; 351 tiuAs;s ruj;Jfs; mYtyf nkhopfs; gw;wp 

tpthpf;fpd;wd. 
3. KjyhtJ nkhopf;FO 1955 Mk; Mz;L B.G. Nfh; jiyikapy; epakpf;fg;gl;lJ. 
Nkw;$wpa $w;Wfspy; rhpahdJ / it vJ / vit? 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk; c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 

23. With reference to legislative relations between centre and state, consider the 
following statements: 
1. Seventh schedule of the constitution embodies union list (100), state list (61) 

and concurrent list (52). 
2. 42nd amendment act, 1976 transferred three subjects from state list to 

concurrent list. 
3. In case of conflict between the law of state and centre on a subject in the 

concurrent list, the law of parliament prevails. 
Which of the above statements is/are correct? 
a. 1 and 2 only  b. 2 and 3 only  c. 1 and 3 only 
d. 1, 2 and 3    e. Answer not known 
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kj;jpa – khepy rl;lkd;w cwTfs; Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. murpayikg;gpd; VohtJ ml;ltiz> kj;jpa gl;bay; (100)> khepy gl;bay; 

(61) kw;Wk; nghJg;gl;baiy (52) nfhz;Ls;sJ. 
2. 1976 Mk; Mz;L 42tJ murpayikg;G rl;lj;jpUj;jk; %d;W Jiwfis khepyg; 

gl;baypypUe;J nghJg;gl;baYf;F khw;wpaJ. 
3. kj;jpa muRf;Fk;> khepy muRf;FkpilNa nghJg;gl;baypy; rl;lkpaw;Wk; NghJ 

Kuz;ghL Vw;gl;lhy;> ghuhSkd;wk; ,aw;Wk; rl;lNk ,WjpahdJ. 
Nkw;$wpa $w;Wfspy; rhpahdJ/it vJ/vit? 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk; c. 1 kw;Wk; 3 kl;Lk;  
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
24. Consider the following pairs: 

Important amendment acts of  
Indian constitution   Objectives 
1. First, 1951    - Added ninth schedule 
2. Seventh, 1956   - State re-organization 
3. Forty-second, 1976  - Also known as Mini constitution 
4. Sixty-second, 1989  - Reduced voting age from 21 to 18 years 
Which of the above are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
,e;jpa murpayikg;gpd; Kf;fpa  
rl;lj;jpUj;jq;fs;  Nehf;fk; 
1. 1-tJ> 1951  - xd;gjhtJ ml;ltiz ,izg;G 
2. 7-tJ> 1956  - khepy kWrPuikg;G 
3. 42-tJ> 1976  - rpW murikg;G vd;Wk; miof;fg;gLfpwJ 
4. 62-tJ> 1989  - thf;fspf;Fk; taij 21-ypUe;J 18 Mf Fiwj;jJ 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahfg; nghUe;jpAs;sJ? 
a. xU ,iz kl;Lk;  b. ,U ,izfs; kl;Lk; c. %d;W ,izfs; kl;Lk; 
d. midj;J 4 ,izfSk; e. tpil njhpatpy;iy 

 

25. Consider the following statement regarding Bommai judgement (1994) 
1. Article 356 is an exceptional power, should be used only occasionally. 
2. Legislative assembly of a state can be dissolved before proclamation of 

president approved by parliament. 
3. Governor’s report on breakdown of constitutional machinery in the state 

must be placed in parliament. 
Which of the above statements is/are correct? 
a. 1 and 2 only  b. 2 and 3 only   c. 1 and 3 only 
d. 1, 2 and 3   e. Answer not known 
nghk;ik tof;F jPh;g;G Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. jdpj;jd;ik tha;e;j ruj;J 356-d; mjpfhuq;fis mhpjhf kl;LNk gad;gLj;j 

Ntz;Lk;. 
2. FbauRj; jiyth; Ml;rpf;F ehlhSkd;wj;jpy; xg;Gjy; toq;fg;gLtjw;F Kd; 

khepy rl;lg;Nguit fiyf;fg;gl Ntz;Lk;. 
3. khepyj;jpy; murpay; rhrd Ml;rpKiw rPuope;J tpl;lJ vd;w MSehpd; 

mwpf;if ehlhSkd;wj;jpy; rkh;g;gpf;fg;gl Ntz;Lk;. 
Nkw;$wpa $w;Wfspy; rhpahdJ/it vJ/vit? 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
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26. With reference to presidential election, consider the following: 
1. President is indirectly elected in accordance with system of proportional 

representation by means of single transferable vote. 
2. President take an oath of office before Chief justice of India. 
3. President cannot be re-elected and term of office is five years. 
Which of the above statements is/are correct? 
a. 1 and 2 only  b. 2 only   c. 1 and 3 only 
d. 1, 2 and 3   e. Answer not known 
FbauRj; jiyth; Njh;jy; Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. FbauRj; jiyth;> xw;iw khw;W thf;F %ykhf tpfpjhr;rhu 

gpujpepjpj;Jtj;jpd;gb kiwKfkhf Njh;e;njLf;fg;gLfpwhh;. 
2. FbauRj; jiytUf;F cr;rePjpkd;w jiyik ePjpgjp gjtpNaw;G cWjpnkhop 

nra;J itf;fpwhh;. 
3. FbauRj; jiyth; kPz;Lk; Njh;e;njLf;fg;gl jFjpaw;wth; kw;Wk; mthpd; 

gjtpf;fhyk; Ie;J Mz;LfshFk;. 
Nkw;$wpa $w;Wfspy; rhpahdj/it vJ/vit? 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk;  
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 

27. Which of the following statement with respect to the Indian president’s power 
is/are correct? 
1. No demand for grant can be made except on his recommendation. 
2. He /she address the legislature after general election and also at the 

beginning of first session each year. 
3. President is not answerable to any court of law for exercise of his pardoning 

powers. 
4. When the financial stability or credit of nation is threatened, president can 

declare the financial emergency. 
a. 1, 3, 4 only   b. 2 and 3 are correct  c. 1 and 2 only 
d. 1, 2, 3, 4 correct  e. Answer not known 
,e;jpaf; FbauRj; jiythpd; mjpfhuq;fs; Fwpj;j gpd;tUk; $w;Wfspy; 
rhpahdJ/it vJ/vit? 
1. mthpd; ghpe;Jiu ,d;wp ve;jnthU khdpaf; Nfhhpf;ifiaAk; nfhz;Ltu 

KbahJ. 
2. nghJj; Njh;jYf;Fg; gpd;dh; ehlhSkd;wj;jpd; Gjpa $l;lj;njhliu ,th; 

ciuahw;wp Jtf;fp itf;fpwhh;. 
3. ,th; jdJ kd;dpg;G toq;Fk; mjpfhuj;ijr; nray;gLtj;Jtjpy; ve;j 

ePjpkd;wj;jpw;Fk; gjpy; mspf;f Ntz;ba mtrpakpy;iy. 
4. ehl;bd; epjp epiyapy; jpUg;jpapd;ik fhzg;gl;lhy;> FbauRj; jiyth; epjp 

neUf;fb epiyia mwptpf;fyhk;. 
a. 1> 3> 4 kl;Lk;  b. 2 kw;Wk; 3 rhp  c. 1 kw;Wk; 2 kl;Lk; 
d. 1> 2> 3> 4 rhp  e. tpil njhpatpy;iy 

 

28. In which of the following, Lok Sabha and Rajya Sabha are having equal powers,  
1. Passage of ordinary bills 
2. Election and impeachment of president 
3. Money bill introduction 
4. Vote on demand for grants 
5. Enlargement of jurisdiction of supreme court 
6. Authorization of parliament to create all India services. 
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Select the correct answer: 
a.1, 2, 3, 4 only  b. 1, 2 and 5 only  c. 1, 2, 4, 5, 6 only 
d. 2, 3, 4, 5, 6 only  e. Answer not known 
gpd;tUtdtw;wpy;> kf;fsit kw;Wk; khepyq;fsit rkkhd mjpfhuq;fs; 
nfhz;lit vit? 
1. rhjhuz kNrhjhit ,aw;Wjy; 
2. FbauRj; jiytiu Njh;e;njLj;jy; kw;Wk; ePf;Fjy; 
3. gz kNrhjh mwpKfg;gLj;Jjy; 
4. khdpaf; Nfhhpf;if kPJ thf;fspj;jy; 
5. cr;rePjpkd;wj;jpd; mjpfhu tuk;ig mjpfhpj;jy;. 
6. mfpy ,e;jpag; gzpfis cUthf;Fk; ehlhSkd;w mjpfhuk; 
rhpahd tpiliaf; fz;lwpf. 
a. 1> 2> 3> 4 kl;Lk;  b. 1> 2 kw;Wk; 5 kl;Lk; c. 1> 2> 4> 5> 6 kl;Lk; 
d. 2> 3> 4> 5> 6 kl;Lk; e. tpil njhpatpy;iy 

 
29. Consider the following pairs: 

Important amendments acts in  
Indian constitution   Objectives 
1. Forty fourth, 1978  - Made right to property a legal right 
2. Eighty sixth, 2002  - Right to education under article 21A 
3. Twenty sixth, 1971  - Abolition of privy purse 
4. Fifty second, 1985  - Anti defection law 
Which of the above pairs is/are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
,e;jpa murpayikg;gpd; Kf;fpa  
rl;lj;jpUj;jq;fs;    Nehf;fk; 
1. 44tJ> 1978  - nrhj;Jhpik rl;l chpik MdJ 
2. 86tJ> 2002  - fy;tp chpik (ruj;J 21A) 
3. 26tJ> 1971  - kd;dh; khdpaq;fs; xopf;fg;gl;lJ 
4. 52tJ> 1985  - fl;rp jhty; jilr; rl;lk; 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,U ,izfs; kl;Lk;  
c. %d;W ,izfs; kl;Lk;  d. midj;J ,izfSk;  
e. tpil njhpatpy;iy 

 
30. Which of the following statement with respect to discretionary power of 

governor is/are correct? 
1. He/she can reserve a bill for consideration of the president. 
2. He/she can pardon, commute punishment on receipt of appeals for mercy. 
3. He/she recommend for imposition of president’s rule in the state. 
4. He/she can dismiss the council of ministers when it is unable to prove the 

confidence of legislative assembly. 
a. 1, 2, 3 only   b. 1, 2, 4 only   c. 1, 3, 4 only 
d. 1, 2, 3, 4   e. Answer not known 
MSehpd; tpUg;Ghpik mjpfhuq;fs; Fwpj;j gpd;tUk; $w;Wfspy; rhpahdJ/it 
vJ/vit? 
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1. FbauRj; jiythpd; ghprPyidf;fhf mth; xU kNrhjhit epWj;jp itf;f 
KbAk;. 

2. Fw;wthspfspd; fUiz kD mbg;gilapy;> jz;lidia kd;dpf;fNth> 
Fiwf;fNth epWj;jp itf;fNth KbAk;. 

3. khepyj;jpy;> FbauRj; jiythpd; Ml;rpf;F ghpe;Jiu nra;a ,aYk;. 
4. mikr;ruit rl;lNguitapd; ek;gpf;ifia ,oe;jhy;> rl;lkd;wj;ij fiyf;f 

KbAk;. 
a. 1> 2> 3 kl;Lk;  b. 1> 2> 4 kl;Lk;  c. 1> 3> 4 kl;Lk; 
d. 1> 2> 3> 4   e. tpil njhpatpy;iy 

 
31. Who among the following participate both in election and impeachment of 

president? 
1. Elected members of house of parliament. 
2. Nominated members of house of parliament. 
3. Elected members of legislative assemblies of States. 
4. Elected members of legislative assemblies of Union Territories. 
a. 1, 2 and 4 only  b. 1 only   c. 1 and 3 only 
d. 1 and 2 only  e. Answer not known 
gpd;tUtdtw;Ws; FbauRj; jiythpd; Njh;jypYk; gjtp ePf;fj;jpYk; fye;J 
nfhs;Sk; thf;fhsh; FOtpy; cs;sth;fs; ahh;? 
1. ehlhSkd;wj;jpd; <uitfspYk; Njh;e;njLf;fg;gl;l cWg;gpdh;fs;. 
2. ehlhSkd;wj;jpd; <uitfspYk; epakpf;fg;gl;l cWg;gpdh;fs;. 
3. khepy rl;lkd;wq;fspd; Njh;e;njLf;fg;gl;l cWg;gpdh;fs;. 
4. A+dpad; gpuNjrq;fspd; rl;lkd;wq;fSf;F Njh;e;njLf;fg;gl;l cWg;gpdh;fs;. 
a. 1> 2 kw;Wk; 4 kl;Lk; b. 1 kl;Lk;   c. 1 kw;Wk; 3 kl;Lk; 
d. 1 kw;Wk; 2 kl;Lk;  e. tpil njhpatpy;iy 

 
32. Consider the following statements regarding election commission of India (ECI): 

1. ECI constituted under Article 324 to ensure free and fair election in India. 
2. The Chief election commissioner and other election commissioner receive 

same salary. 
3. The term of office of election commissioner is five years from the date he 

assumes his office or till the day he attains the age of 62years, whichever is 
earlier. 

Which of the above statement is/are correct? 
a. 1 only   b. 1 and 2 only  c. 1 and 3 only 
d. 1, 2 and 3  e. Answer not known 
,e;jpa Njh;jy; Mizak; (ECI) Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ECI MdJ> ,e;jpahtpy; Rje;jpukhd kw;Wk; Neh;ikahd Kiwapy; Njh;jiy 

elj;j ruj;J 324-d; fPo; epWtg;gl;Ls;sJ. 
2. jiyikj; Njh;jy; MizaUk;> kw;w Njh;jy; Mizah;fSk; xNu Cjpak; 

ngWfpd;wdh;. 
3. Njh;jy; Mizahpd; gjtpf;fhyk;> mth; gjtpNaw;wj;jpypUe;J Ie;J 

Mz;LfNsh my;yJ 62 taJ tiuapNyh (Kjypy; tUk; Njjp) MFk;. 
Nkw;$wpa $w;Wfspy; rhpahdJ/it vJ/vit? 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk; c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
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33. Consider the following pairs. 
Name of the high court Jurisdiction 
1. Delhi high court  - NCT of Delhi 
2. Bombay high court - Goa 
3. Calcutta high court - Andaman and Nicobar Islands 
4. Guwahati high court - Assam 
Which of the above pairs are correctly matched? 
a. only one pair   b. only two pair  c. only three pair 
d. All four pairs   e. Answer not known 
gpd;tUk; ,izfis Ma;f. 
cah;ePjpkd;wj;jpd; ngah;  mjpfhu tuk;G 
1. nly;yp cah;ePjpkd;wk; - nly;yp jiyefh; gFjp 
2. ghk;Ng cah;ePjpkd;wk; - Nfhth 
3. fy;fj;jh cah;ePjpkd;wk; - me;jkhd; epNfhghh; jPTfs; 
4. fTfhj;jp cah;ePjpkd;wk; - mrhk; 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahfg; nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;  b. ,uz;L ,izfs; kl;Lk;  
c. %d;W ,izfs; kl;Lk;  d. midj;J ,izfSk; 
e. tpil njhpatpy;iy 

 
34. With reference to state re-organization commission, consider the following 

statements: 
1. FazlAli, Kunzru are the only members of this commission. 
2. It submitted its report in September 1955. 
3. It advocated one language one state theory. 
4. It identified linguistic and cultural homogeneity is important. 
Which of the above statements is/are correct? 
a. All the above  b. 1, 2 and 3 only   c. 2 and 4 only 
d. 1, 2 and 4 only  e. Answer not known 
khepy kWrPuikg;G Mizak; Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. gry; myp kw;Wk; Fd;];U kl;LNk ,f;FOtpd; cWg;gpdh;fs;. 
2. ,f;FO jdJ mwpf;ifia nrg;lk;gh; 1955-y; rkh;gpj;jJ. 
3. ,f;FO xU nkhopf;F xU khepyk; vd;W ghpe;Jiuj;jJ 
4. ,J nkhop kw;Wk; gz;ghl;L xj;j jd;ikia Kf;fpakhf typAWj;JfpwJ. 
Nkw;$wpa $w;Wfspy; rhpahdJ/it vJ/vit? 
a. Nkw;$wpa midj;Jk; b. 1> 2 kw;Wk; 3 kl;Lk; c. 2 kw;Wk; 4 kl;Lk; 
d. 1> 2 kw;Wk; 4 kl;Lk; e. tpil njhpatpy;iy 
 

35. Consider the following pairs: 
Name of the state  Year of Formation 
Sikkim   - 1975 
Haryana   - 1966 
Jharkhand   - 2000 
Telangana   - 2014 
Which of the above pairs is/are correctly matched? 
a. only one pair  b. only two pair  c. only three pair 
d. All four pairs  e. Answer not known 
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gpd;tUk; ,izfis Ma;f. 
khepyk;   cUthd Mz;L 
rpf;fpk;    - 1975 
`hpahdh   - 1966 
[hh;fz;l;   - 2000 
njYq;fhdh   - 2014 
Nkw;fz;ltw;Ws; vj;jid ,izfs; rhpahfg; nghUe;jpAs;sd? 
a. xU ,iz kl;Lk;    b. ,uz;L ,izfs; kl;Lk;  
c. %d;W ,izfs; kl;Lk;   d. midj;J ehd;F ,izfSk; 
e. tpil njhpatpy;iy 

 
36. As per Indian constitution, which of the following statements are correct? 

1. The president tenders his resignation to Chief justice of India. 
2. The Vice-President tenders his resignation to the president of India. 
3. A judge of supreme court can be resign his office by writing addressed to 

Chief justice of India. 
a. All the above  b. 1 and 2 only  c. 2 only 
d. 2 and 3 only  e. Answer not known 
,e;jpa murpayikg;gpd;gb> gpd;tUk; $w;Wfspy; rhpahdit vit? 
1. FbauRj; jiyth; jdJ gjtp tpyfy; fbjj;ij ,e;jpa jiyik ePjpgjpaplk; 

xg;gilg;ghh;. 
2. Jizf; FbauR jiyth; jdJ gjtp tpyfy; fbjj;ij FbauRj; jiythplk; 

xg;gilg;ghh;. 
3. cr;rePjpkd;w ePjpgjp gjtp tpyf epidj;jhy;> jd;dhy; ifg;gl vOjpa gjtp 

tpyfy; fbjj;ij ,e;jpa jiyik ePjpgjpaplk; rkh;g;gpf;f Ntz;Lk;. 
a. Nkw;$wpa midj;Jk; b. 1 kw;Wk; 2 kl;Lk;  c. 2 kl;Lk; 
d. 2 kw;Wk; 3 kl;Lk;  e. tpil njhpatpy;iy 

 
37. Who said, “True democracy cannot be worked by twenty men sitting at the 

centre. It has to be worked from below by the people of every village.” 
a. Mahatma Gandhi b. LM Singhvi c. BR Ambedkar 
d. Balwant Rai Mehta e. Answer not known 
xU cz;ikahd kf;fshl;rpia> 20 Ngh; FOthf mkh;e;J nfhz;L nray;gLj;j 
KbahJ. ,J fPo;epiyapYs;s xt;nthU fpuhk kf;fshYk; 
nray;gLj;jg;gLtjhFk; vdf; Fwpg;gpl;lth;? 
a. kfhj;khfhe;jp  b. LM rpq;tp  c. BR mk;Ngj;fh; 
d. gy;te;j;uha; Nkj;jh e. tpil njhpatpy;iy 
 

38. Consider the following statements 
1. India has a federal system of government just like USA. 
2. President of India is the “de facto” head.  
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. mnkhpf;fhit NghyNt ,e;jpahtpYk; $l;lhl;rp mikg;G muR cs;sJ. 
2. ,e;jpa [dhjpgjp “cz;ikahd jiyth;” Mthh;. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
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39. Consider the following statements 
1. The first general elections to Lok Sabha were held between 21st October 1951 

to 25th February 1952. 
2. Indian National congress emerged victorious by winning 366 seats out of 489. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. ,e;jpah Rje;jpuk; mile;j gpd;dh; kf;fsitapd; Kjy; nghJj; Njh;jy; 1951k; 

Mz;L mf;Nlhgh; 21k; ehs;> 1952k; Mz;L gpg;uthp 25k; ehs; tiu gy;NtW 
fl;lq;fspy; eilngw;wJ. 

2. nkhj;jk; ,Ue;j 489 ,lq;fspy; 366 ,lq;fspy; ntw;wp ngw;W ,e;jpa Njrpa 
fhq;fpu]; fl;rp Ml;rpia mikj;jJ. 

a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
40. Consider the following statements 

1. Art 324 provides for an independent election commission. 
2. The election commission consists of a Chief Election Commissioners and two 

election commissioners. 
3. The election commissioners are removed in the same way as removal of Judge 

of the supreme court. 
a. All are correct  b. 1, 2 are correct  c. 2, 3 are correct 
d. 1, 3 are correct  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. rl;lf;$W 324 Rje;jpukhd Njh;jy; Mizaj;ij toq;FfpwJ. 
2. Njh;jy; MizakhdJ xU jiyik Njh;jy; Mizah; kw;Wk; ,U Njh;jy; 

Mizah;fis nfhz;lJ. 
3. cr;rePjpkd;w ePjpgjpia ePf;FtJ NghyNt Njh;jy; Mizah;fSk; 

ePf;fg;gLfpwhh;fs;. 
a. midj;Jk; rhp  b. 1> 2 rhp   c. 2> 3 rhp 
d. 1> 3 rhp   e. tpil njhpatpy;iy 

 
41. Consider the following statements 

1. NOTA was first introduced in general elections held in 2014. 
2. India is the 12th country in the world to introduce NOTA. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. Nehl;lh Kjd;Kjypy; 2014y; eilngw;w nghJj; Njh;jypy; 

mwpKfg;gLj;jg;gl;lJ. 
2. cyfpy; Nehl;lhit mwpKfg;gLj;jpa 12tJ ehL ,e;jpah. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 

d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 
42. Consider the following statements 

1. VVPAT was first introduced in 2019 general elections. 
2. VVPAT reduces the time taken for counting of votes. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
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gpd;tUk; $w;Wfis MuhaTk;. 
1. VVPAT Kjd;Kjypy; 2019 nghJj;Njh;jypy; mwpKfg;gLj;jg;gl;lJ. 
2. VVPAT thf;F vz;Zk; Neuj;ij Fiwf;fpwJ. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
43. Consider the following statements about pressure groups 

1. The term pressure groups originated in USA. 
2. The pressure groups are also called interest groups. 
3. They try to capture political power by contesting elections. 
a. 1 and 2 are correct b. 2, 3 are correct  c. 1, 3 are correct 
d. All the above  e. Answer not known 
mOj;jf;FOf;fs; gw;wpa gpd;tUk; $w;Wfis Muha;f 
1. mOj;jf;FOf;fs; vd;w nrhy; mnkhpf;fhtpy; cUthdJ  
2. mOj;jf; FOf;fs; eyf;FOf;fs; vdTk; miof;fg;gLfpwJ 
3. ,it Njh;jypy; Nghl;bapl;L murpay; mjpfhuj;ij ifg;gw;w KaYfpd;wdh; 
a. 1> 2 rhp   b. 2> 3 rhp   c. 1> 3 rhp 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 

44. Which of the following are pressure groups? 
1. All India kisan Sabha  
2. Tamil Sangam 
3. Narmada Bachao Andolan 
4. Indian Medical Association 
5. Ramakrishna mission 
6. All India students federation. 
a. All are correct  b. 1, 2, 3, 4, 6 are correct c. 1, 3, 4, 5, 6 are correct 
d. 2, 4, 5, 6 are correct e. Answer not known 
gpd;tUtdtw;wpy; mOj;jf; FOf;fs; vit? 
1. midj;jpe;jpa tptrhapfs; rq;fk; 
2. jkpo; rq;fk; 
3. eh;kjh gr;Nrht; me;Njhyd; 
4. ,e;jpa kUj;Jt rq;fk; 
5. ,uhkfpU~;z kp~d; 
6. mfpy ,e;jpa khzth; rk;Nksk; 
a. midj;Jk; rhp  b. 1> 2> 3> 4> 6 rhp  c. 1> 3> 4> 5> 6 rhp 
d. 2 >4> 5> 6 rhp  e. tpil njhpatpy;iy 
 

45. The maintenance and welfare of parents and senior citizens act was passed in 
a. 2006   b. 2007    c. 2010 
d. 2016   e. Answer not known 
%j;j Fbkf;fs; kw;Wk; ngw;Nwhh; eyd;fs; guhkhpg;gr; rl;lk; ,aw;wg;gl;l Mz;L 
a. 2006   b. 2007    c. 2010 
d. 2016   e.  tpil njhpatpy;iy 

 
46. Which section of the protection of human rights act, 1993 confers powers on the 

state to establish state human rights commission? 
a. section 1   b. section 21    c. section 31 
d. section 41   e. Answer not known 



 

18 | Page  044-24339436, 42867555, 9840226187 
 

,e;jpahtpy; xt;nthU khepyj;jpYk; xU khepy kdpj chpikfs; Mizak; 
mikf;f top nra;Ak; kdpj chpikfs; ghJfhg;Gr; rl;lk;  1993d; gphpT ? 
a. gphpT 1   b. gphpT 21    c. gphpT 31 
d. gphpT 41   e. tpil njhpatpy;iy 

 
47. Consider the following statements 

1. The state human rights commission has Suo moto powers. 
2. The orders passed by state human rights commission are advisory. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. khepy kdpj chpikfs; Mizaj;jpw;F jhdhf Kd;te;J tprhhpf;Fk; mjpfhuk; 

cs;sJ 
2. khepy kdpj chpikfs; Mizak; gpwg;gpf;Fk; cj;juTfs; 

MNyhridf;Fhpait 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
48. The declaration of the rights of child was accepted and adopted by UN general 

assembly on  
a. 20 December, 1989 b. 20 November, 1989 c. 20 June, 1989  
d. 21 June, 1989  e. Answer not known 
I.eh.rig Foe;ijfs; chpikfs; gpufldj;ij Vw;Wf;nfhz;l ehs; 
a. 20 brk;gh; 1989  b. 20 etk;gh; 1989  c. 20 [Pd; 1989  
d. 21 [Pd; 1989  e. tpil njhpatpy;iy 

 
49. Match the following  

Reservations in Tamil Nadu 
A. Backward classes    1. 1% 
B. Backward classes (Muslims)  2. 18% 
C. Most backward classes   3. 20 % 
D. Scheduled castes    4. 3.5% 
E. Scheduled tribes    5. 26.5% 
 A B C D E 
a. 1 2 4 3 5 
b. 5 4 1 2 3 
c. 3 2 1 5 4 
d. 5 4 3 2 1 
e. Answer not known 
nghUj;Jf 
jkpo;ehl;by; ,l xJf;fPL 
A. gpw;gLj;jg;gl;Nlhh;    1. 1% 
B. gpw;gLj;jg;gl;l tFg;G (K];ypk;fs;)  2. 18% 
C. kpfg; gpw;gLj;jg;gl;Nlhh;    3. 20% 
D. gl;baypdj;Njhh;     4. 3.5% 
E. goq;Fbapdh;     5. 26.5% 
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A B C D E 
a. 1 2 4 3 5 
b. 5 4 1 2 3 
c. 3 2 1 5 4 
d. 5 4 3 2 1 
e. tpil njhpatpy;iy 

 
50. Which of the following are the contributions of BR Ambedkar to labourers? 

1. Reduction in factory working hours (8hours a day) 
2. Employees state insurance. 
3. Coal and Mica mines provident fund. 
4. Employment exchanges in India. 
5. Maternity leave for women. 
a. All are correct  b. 1, 2, 3 are correct  c. 3, 4, 5 are correct 
d. 1, 2, 3, 4 are correct e. Answer not known 
njhopyhsh; eydpy; lhf;lh; BR mk;Ngj;fhpd; gq;fspg;Gfs; ahit? 
1. njhopw;rhiyapy; Ntiy Neuk; Fiwg;G (ehSf;F 8 kzp  Neuk;) 
2. gzpahsh;fspd; fhg;gPLf;fofk; 
3. epyf;fhp kw;Wk; ikf;fh Ruq;fj;jpd; tUq;fhy itg;G epjp 
4. ,e;jpahtpy; Ntiytha;g;G ghpkhw;wk; 
5. ngz;fSf;F kfg;NgW tpLg;G 
a. midj;Jk; rhp  b. 1> 2> 3 rhp   c. 3> 4> 5 rhp 
d. 1> 2> 3> 4 rhp  e. tpil njhpatpy;iy  

 

51. Match the following 
A. Legislative relations  1. Articles 268-293 
B. Administrative relations  2. Articles 245- 255 
C. Financial relations   3. Articles 256-263 
 A B C  
a. 1 2 3 
b. 2 1 3 
c. 2 3 1 
d. 3 1 2 
e. Answer not known 
nghUj;Jf 
A. rl;lkd;w cwTfs;  1. ~uj;Jfs; 268-293 
B. eph;thf cwTfs;   2. ~uj;Jfs; 245-255 
C. epjp cwTfs;   3. ~uj;Jfs; 256-263 
A B C  
a. 1 2 3 
b. 2 1 3 
c. 2 3 1 
d. 3 1 2 
e. tpil njhpatpy;iy 
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52. Consider the following statements 
1. The term gross national happiness was coined by Jigme Singye Wangchuck, 

the King of Nepal. 
2. It is used to measure the collective happiness in any specific nation. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. nkhj;j Njrpa kfpo;r;rp vDk; gjk; Nehghs murh; [pf;Nk rpq;fpNa thd;Rq; 

vd;gtuhy; mwpKfg;gLj;jg;gl;lJ 
2. ,J xU Fwpg;gpl;l ehl;by; cs;s nkhj;j kfpo;r;rpiaf; Fwpf;Fk; FwpaPL MFk; 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
53. Consider the following statements 

1. A person to contest in election for president of village panchayat must have 
completed 18 years of age. 

2. Village panchayats are constituted in each and every village wherever the 
population is above 500. 

a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. fpuhk gQ;rhaj;J jiyth; Njh;jypy; Nghl;bapLk; egh; fz;bg;ghf 18 taJ 

epiutile;J ,Uf;f Ntz;Lk; 
2. kf;fs; njhif 500f;F NkYs;s xt;nthU fpuhkj;jpYk; fpuhk gQ;rhaj;Jfs; 

mikf;fg;gl;Ls;sJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 
54. The only local government which was empowered to levy taxes in the three tier 

system of rural local bodies is  
a. Village panchayat  b. panchayat union  c. district panchayat 
d. town panchayat   e. Answer not known 
%d;W mLf;F mikg;Gs;s Cuf cs;shl;rp mikg;gpy; thp tpjpf;Fk; mjpfhuk; 
ngw;wJ. 
a. fpuhk Cuhl;rp  b. gQ;rhaj;J xd;wpak; c. khtl;l gQ;rhaj;J 
d. efu gQ;rhaj;J   e. tpil njhpatpy;iy 

 

55. Consider the following statements 
1. Madras village panchayats act was passed in 1951. 
2. White paper on “reform of local administration” submitted in 1956. 
3. Madras panchayats act was passed in 1957. 
a. 1, 2 are correct  b. 2, 3 are correct  c. All are correct 
d. All are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. kjuh]; fpuhk gQ;rhaj;J rl;lk; 1951y; ,aw;wg;gl;lJ  
2. “cs;shl;rp eph;thfj;jpd; rPh;jpUj;jk;” njhlh;ghd nts;is mwpf;if 1956 y; 

rkh;g;gpf;fg;gl;lJ 
3. kjuh]; gQ;rhaj;J rl;lk; 1957y; ,aw;wg;gl;lJ  
a. 1> 2 rhp   b. 2> 3 rhp   c. midj;Jk; rhp 
d. midj;Jk; jtW  e. tpil njhpatpy;iy 
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56. Consider the following statements 
1. Periyar EV Ramasamy became the chairman of Erode municipality in 1917. 
2. Piped water supply scheme was implemented in 1920 by Periyar. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. <NuhL khefuhl;rpapd; jiytuhf nghpahh; <.Nt. uhkrhkp 1917y; nghWg;Ngw;whh; 
2. Foha; %yk; FbePh; toq;Fk; jpl;lk; 1920,y; nghpahuhy; nray;gLj;jg;gl;lJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
57. Consider the following statements 

1. Liberty, equality and fraternity were the important slogans during French 
revolution in 1789. 

2. They are incorporated in article 14 of Indian constitution. 
a. 1 is correct   b. 2 is correct  c. Both are correct 

  d. Both are wrong  e. Answer not known 
gpd;tUk;  $w;Wfis Muha;f 
1. 1789 Mz;L gpnuQ;R  Gul;rpapd; NghJ Rje;jpuk;> rkj;Jtk;> rNfhjuj;Jtk; 

Mfpait Kf;fpa Kof;fq;fs; Mapd. 
2. mit ,e;jpa murpayikg;gpd; ~uj;J 14 y; ,izf;fg;gl;Ls;sd. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
58. Consider the following statements 

1. Fundamental rights are enshrined in part III of the Indian constitution. 
2. The original constitution provided for 7 fundamental rights. 
3. Fundamental rights are available to Indian citizens only. 
a. 1, 3 are correct  b. 2, 3 are correct   c. 1, 2 are correct 
d. 2 alone is correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. mbg;gil chpikfs; ,e;jpa murpayikg;gpd; gFjp III,y; Fwpg;gplg;gl;Ls;sd 
2. %y murpayikg;G 7 mbg;gil chpikfis nfhz;bUe;jJ 
3. mbg;gil chpikfs; ,e;jpa Fbkf;fSf;F kl;LNk chpj;jhdit 
a. 1> 3 rhp   b. 2> 3 rhp    c. 1>2 rhp 
d. 2 kl;Lk; rhp  e. tpil njhpatpy;iy   
 

59. Consider the following statements 
1. Right to property was deleted by 25th amendment act, 1971. 
2. Right to property is now a legal right under art 300A in part XII. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. nrhj;Jhpik 25tJ jpUj;j rl;lk; 1971 %yk; ePf;fg;gl;lJ 
2. nrhj;Jhpik jw;NghJ gFjp XIIy; ~uj;J 300A d; fPo; rl;lG+h;t chpikahf 

khw;wg;gl;lJ. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 



 

22 | Page  044-24339436, 42867555, 9840226187 
 

60. Consider the following statements about Directive principles of State Policy 
1. The directive principles of states policy are enumerated in part IV A of the 

Indian constitution. 
2. As per constitution, it is classified as Gandhian, socialistic and Liberal 

intellectual. 
3. They aim at promoting social welfare of the people. 
4. Jawaharlal Nehru described it as the “Novel features” of the Indian 

constitution. 
a. All are correct  b. 3, 4 are correct  c. 1, 4 only is correct 
d. 3 only is correct  e. Answer not known 
gpd;tUk; $w;Wfis fhz;f 
1. muR newpKiwf; nfhs;iffs; ,e;jpa murpayikg;gpd; gFjp IVAy; 

gl;bayplg;gl;Ls;sd 
2. murpayikg;gpd;gb ,J rkjh;k> fhe;jpa kw;Wk; jhuhska mwpTrhh;e;j 

Nfhl;ghLfs; vd tifg;gLj;jg;gl;Ls;sd 
3. mit kf;fspd; r%f eyid Nkk;gLj;Jtij Nehf;fkhff; nfhz;Ls;sJ 
4. [t`h;yhy; NeU ,ij ,e;jpa murpayikg;gpd; “GJikahd rpwg;gk;rk;” 

vd;fpwhh; 
a. midj;Jk; rhp  b. 3> 4 rhp   c. 1> 4 kl;Lk; rhp 
d. 3 kl;Lk; rhp  e. tpil njhpatpy;iy 

 
61. Consider the following statements 

1. The 86th amendment act of 2004 introduced 11th fundamental duty under 
article 51A(K) 

2. Article 51A(K) says that’s it shall be the duty of all citizens of India or parents 
to provide education to their children between age 6 and 18 years. 

a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f  
1. 86tJ rl;ljpUj;jk; 2004> 11tJ mbg;gilf; flikia ~uj;J 51A (K) d; 

fPo; mwpKfg;gLj;jpaJ 
2. ~uj;J 51A (K)d; gb> midj;J ,e;jpa Fbkf;fs; my;yJ ngw;Nwhh;fs; 6 

Kjy; 18 taJs;s jq;fs; Foe;ijfs; midtUf;Fk; fy;tp ngWk; tha;g;gpid 
Vw;gLj;jpj; ju Ntz;Lk; 

a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

62. Consider the following statements 
1. For the first time presidents rule was imposed in Punjab in 1951. 
2. SR Bommai case, 1995 is related to president’s rule 
a. 1 is correct   b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. Kjd; Kiwahf 1951 y; gQ;rhgpy; [dhjpgjp Ml;rp mky;gLj;jg;gl;lJ 
2. SR nghk;ik tof;F 1995 [dhjpgjp Ml;rp njhlh;ghdJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
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63. Consider the following statements 
1. The national commission to review the working of the constitution (NCRWC) 

was set up in 2000. 
2. Punchchi commission was set up in 2007. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. murpayikg;gpd; nray;ghl;il kW Ma;T nra;tjw;fhd Njrpa Mizak; 

(NCRWC) 2000 y; mikf;fg;gl;lJ 
2. Gd;~p FO 2007 y; mikf;fg;gl;lJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
64. Consider the following statements 

1. The central government is the supreme government in our country. 
2. Articles 52 to 78 in part V deals with Union Executive. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. kj;jpa muRjhd; ek; ehl;bd; cr;rgl;r muR  
2. ,e;jpa murpayikg;gpd; gFjp Vy; 52 Kjy; 78 tiuapyhd rl;lg;gphpTfs; 

kj;jpa muR eph;thfk; gw;wp Fwpg;gpLfpwJ  
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
65. Match the following  

A. Rashtrapati Bhavan  1. New Delhi 
B. The Retreat building  2. Hyderabad  
C. Rashtrapati Nilayam  3. Shimla  
 A B C 
a. 1 3 2   
b. 1 2 3 
c. 2 1 3 
d. 2 3 1 
e. Answer not known 
nghUj;Jf 
A. uh~;bugjp gtd;   1. GJby;yp 
B. hPl;hPl; fl;blk;   2. i`juhghj; 
C. uh~;bugjp epiyak;  3. `pk;yh 

A B C 
a. 1 3 2   
b. 1 2 3 
c. 2 1 3 
d. 2 3 1 
e. tpil njhpatpy;iy 
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66. Consider the following statements about the President 
1. The president summons the parliament at least twice a year. 
2. The address of president in parliament is identical in nature to speech from 

the throne. 
3. He cannot dissolve the Lok Sabha before the expiry of the term. 
a. 1, 2 are correct   b. 1, 3 are correct  c. 2, 3 are correct 
d. All are correct   e. Answer not known 
[dhjpgjp gw;wpa gpd;tUk; $w;Wfis Muha;f 
1. [dhjpgjp ghuhSkd;wj;ij tUlj;jpw;F ,U Kiw $l;Lfpwhh; 
2. ghuhSkd;wj;jpy; [dhjpgjpapd; ciu xU muR rpk;khrdj;jpd; ciu Nghd;wJ 
3. gjtpf;fhyk; Kbtjw;Fs; mth; kf;fsitiia fiyf;f KbahJ 
a. 1> 2 rhp    b. 1> 3 rhp   c. 2> 3 rhp 
d. midj;Jk;; rhp   e. tpil njhpatpy;iy 

 

67. Arrange the president of India in chronological order. 
1. Zakir Hussain   2. Neelam Sanjiva Reddy  
3. Fakhruddin Ali Ahmed  4. VV Giri 
a. 1, 4, 3, 2    b. 2, 1, 4, 3     c. 3, 1, 4, 2 
d. 1, 4, 2, 3    e. Answer not known 
,e;jpa [dhjpgjpfis fhy thpirg;gLj;Jf 
1. [hfPh; cird;   2. ePyk; rQ;rPt; nul;b 
3. /gf;UjPd; myp mf;kJ  4. VV fphp 
a. 1> 4> 3> 2   b. 2> 1> 4> 3   c. 3> 1> 4> 2 
d. 1> 4> 2> 3   e. tpil njhpatpy;iy 

 

68. Consider the following statements 
1. The office of Indian Vice President is modelled on the lines of American Vice- 

President. 
2. Article 63 provides for a Vice President of India. 
3. The office has been created to maintain political continuity of the state. 
a. 1, 2 are correct   b. 1, 3 are correct  c. 2, 3 are correct 
d. All are correct   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. ,e;jpa Jizf;Fbaurj; jiyth; gjtp mnkhpf;f Jizf; FbauRj; jiyth; 

gjtp Nghd;wJ  
2. ~uj;J 63- ,e;jpa Jiz FbauRj;jiyth; gw;wp $WfpwJ 
3. ehl;bd; murhq;f eltbf;iffs; njhlh;r;rpahf eilngw ,g;gjtp 

cUthf;fg;gl;lJ 
a. 1> 2 rhp    b. 1> 3 rhp   c. 2> 3 rhp 
d. midj;Jk;; rhp   e. tpil njhpatpy;iy 

 
69. Who is called as the “father of modern theory of sovereignty”? 

a. Jean Bodin   b. Harold J Laski   c. CF Strong 
d. Montesquieu  e. Answer not known 
“etPd ,iwahz;ikf; Nfhl;ghl;bd; je;ij” vdg;gLth;? 
a. [pd; Nghbd;  b. n`uhy;L J y];fp   c. CF ];l;uhq; 
d. khz;nl];fpA+  e. tpil njhpatpy;iy  
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70. Which flagship programme of government of Tamil Nadu is followed by all 
other states in India? 
a. Noon Meal Scheme b. Rain water harvesting  c. Gold for Mangalsutra 
d. Bicycle for school children e. Answer not known 
jkpof murpd; ve;j jiyrpwe;j jpl;lk; ,e;jpahtpd; gpw khepyq;fspy; 
gpd;gw;wg;gLfpwJ 
a. kjpa czT jpl;lk;  b. kioePh; Nrkpg;G 
c. jhypf;F jq;fk; jpl;lk;  d. gs;sp khzth;fSf;fhd kpjptz;b 
e. tpil njhpatpy;iy 

 
71. Who said, “what good is freedom to a starving man? He cannot eat freedom or 

drink it” 
a. Thomas Hobbes  b. Jean Bodin   c. Granville Austin 
d. AV Dicey   e. Answer not known 
“grpNahL thOk; xU kdpjDf;F Rje;jpuk; vd;d ed;ikia mspf;f KbAk;? 
mtdhy; me;j Rje;jpuj;ij rhg;gplNth my;yJ Fbf;fNth KbahJ? vdf; 
$wpath; ahh;? 
a. jhk]; `hg;];  b. [pd; Nghbd;  c. fpuhd;tpy; M];bd;  
d. AV ilrp   e. tpil njhpatpy;iy 

 
72. The right to conduct Jallikattu is guaranteed under which article of the Indian 

constitution? 
a. Article 25   b. Article 29   c. Article 30 
d. Article 14   e. Answer not known 
[y;ypf;fl;L elj;Jk; chpik ,e;jpa murpayikg;gpd; ve;jg; gphptpd; fPo; cWjp 
nra;g;gLfpwJ? 
a. ~uj;J 25   b. ~uj;J 29   c. ~uj;J 30 
d. ~uj;J 14   e. tpil njhpatpy;iy 

 
73. Consider the following statements 

1. August 9 is celebrated as International day devoted to the reaffirmation of 
the value and resilience of indigenous life and cultures. 

2. UN Declaration of rights of indigenous people was adopted by UNGA in 
September 2007. 

a. 1 is correct   b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
 
gpd;tUk; $w;Wfis Muha;f 
1. cs;ehl;L tho;if kw;Wk; fyhr;rhuq;fspd; gpd;dilT Mfpatw;iw 

cWjpgLj;Jk; rh;tNjr jpdkhf Mf];l; 9 nfhz;lhlg;gLfpwJ 
2. G+h;tFb kf;fspd; chpikfs; gw;wpa I.eh gpufldk; nrg;lk;gh; 2007y; UNGA 

My; Vw;Wf;nfhs;sg;gl;lJ. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy  
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74. Match the following 
A. Russia   1. Rashtriya Panchayat 
B. USA   2. Parliament  
C. South Africa  3. Congress  
D. Nepal   4. Federal assembly 
E. Switzerland  5. Duma 
 A B C D E 
a. 5 3 2 1 4  
b. 5 2 3 4 1 
c. 2 3 5 1 4 
d. 1 4 5 3 2 
e. Answer not known 
nghUj;Jf. 
A. u~;ah   1. uh~l;hpa gQ;rhaj;J 

B. USA   2. ghuhSkd;wk; 
C. njd;dhg;gphpf;fh  3. fhq;fpu]; 
D. Neghsk;   4. $l;lhl;rp rl;lkd;wk; 
E. Rtpl;rh;yhe;J  5. Lkh 

A B C D E 
a. 5 3 2 1 4  
b. 5 2 3 4 1 
c. 2 3 5 1 4 
d. 1 4 5 3 2 
e. tpil njhpatpy;iy 

 
75. Who called the “parliamentary system” as “cabinet system”? 

a. AV Dicey   b. Granville Austin   c. Herbert Simon 
d. Ivor Jennings   e. Answer not known 
ehlhSkd;w Kiw murhq;fj;ij ‘mikr;ruitf;f FO Kiw murhq;fk;’ vd 
mioj;jth; ahh;. 
a. AV ilrp   b. fpuhd;tpy; M];bd;  c. n`h;gh;l; irkd; 
d. Ith; n[d;dpq;];  e. tpil njhpatpy;iy 

 

76. Why the framers of Indian constitution adopted for the parliamentary form of 
government? 
1. Familiarity with the system. 
2. Preference to more responsibility 
3. Need to avoid legislative- executive conflicts. 
a. All are correct   b. 1, 2 are correct  c. 2, 3 are correct 
d. 1, 3 are correct   e. Answer not known 
,e;jpa murpayikg;gpid cUthf;fpath;fs; Vd; ehlhSkd;w Kiw 
murhq;fj;ij Vw;wdh;? 
1. ehlhSkd;w Kiw murhq;fj;jpy; ghpr;rak; cz;L. 
2. mjpf nghWg;Gzh;Tf;fhd tpUg;Ghpik 
3. rl;lkd;wj;jpw;Fk;> nrayhl;rpf;Fk; ,ilNaahd gpur;ridfisj; jtph;f;f 

Ntz;baJ mtrpakhFk;. 
a. midj;Jk; rhp   b. 1> 2 rhp   c. 2> 3 rhp 
d. 1> 3 rhp    e. tpil njhpatpy;iy 
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77. Which of the following are the characteristics of good governance? 
1. Participation 
2. Rule of law 
3. Transparency 
4. Responsiveness 
5. Consensus orientation 
6. Equity 
a. 1, 2, 3, 4, 5, 6 are correct  b. 1, 2, 4, 5 are correct 
c. 1, 2, 3, 5, 6 are correct  d. 2, 4, 5, 6 are correct   
e. Answer not known 
gpd;tUtdtw;wpy; ey; MSifapd; rpwg;gpay;Gfs; ahit? 
1. gq;Nfw;G 
2. rl;lj;jpd; Ml;rp 
3. ntspg;gilj; jd;ik 
4. kWnkhop gfph;jy; 
5. xUkpj;j fUj;jpyhd jpirg;Nghf;F 
6. rkrPuhf;fk; 
a. 1> 2> 3> 4> 5> 6 rhp  b. 1> 2> 4> 5 rhp    
c. 1> 2> 3> 5> 6 rhp   d. 2> 4> 5> 6 rhp    
e. tpil njhpatpy;iy 

 
78. According to Plato, an ideal state should be made of three classes namely 

a. Ruling class, working class, economic class 
b. Ruling class, military class, economic class 
c. Military class, working class, economic class 
d. Economic class, miliary class, working class. 
e. Answer not known 
gpshl;Nlhtpd; $w;Wg;gb xU yl;rpa murpy; ,Uf;f Ntz;ba %d;W th;f;fq;fs;? 
a. MSk; th;f;fk;> njhopyhsp th;f;fk;> nghUshjhu th;f;fk; 
b. MSk; th;f;fk;> ,uhZt th;f;fk;> nghUshjhu th;f;fk; 
c. ,uhZt th;f;fk;> njhopyhsp th;f;fk;> nghUshjhu th;f;fk; 
d. nghUshjhu th;f;fk;> ,uhZt th;f;fk;> njhopyhsp th;f;fk; 
e. tpil njhpatpy;iy 

 
79. Match the following  

A. Muslim league    1. 1923 
B. Swaraj party    2. 1934 
C. Congress socialist party   3. 1959 
D. Swatantra party    4. 1906 
 A B C D 
a. 1 4 2 3 
b. 2 1 3 4 
c. 4 1 3 2 
d. 4 1 2 3 
e. Answer not known 
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nghUj;Jf  
A K];ypk; yPf;    1. 1923 
B. Rauh[;[paf; fl;rp   2. 1934 
C. fhq;fpuh]; Nrhryp];l; fl;rp   3. 1959 
D. Rje;jpu fl;rp    4. 1906 

A B C D 
a. 1 4 2 3 
b. 2 1 3 4 
c. 4 1 3 2 
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
80. The women leaders Dhoom Singh Negi and Bachni Devi participated in  

a. Bishnoi Movement   b. Appiko movement  
c. Save silent valley movement  d. Chipko movement   
e. Answer not known 
ngz; jiyth;fshd J}k;rpq; Nefp kw;Wk; gr;dp Njtp MfpNahh; gq;Nfw;wJ 
a. gp~;Ndha; ,af;fk;   b. mgpNfh ,af;fk; 
c. mikjpg;gs;sj;jhf;F ,af;fk;  d. rpg;Nfh ,af;fk; 
e. tpil njhpatpy;iy 

 
81. Which article of the Indian constitution states that the elections to the Lok Sabha 

and the Vidhan Sabha of every state shall be on the basis of adult suffrage? 
a. Art 325   b. Art 21   c. Art 14 
d. Art 326    e. Answer not known 
,e;jpa murpayikg;gpd; ve;j ~uj;J kf;fsit kw;Wk; khepyq;fsit Njh;jy;fs; 
midj;J khepy Njh;jy;fSk; taJ te;Njhh; thf;Fhpikapd; mbg;gilapy; mika 
Ntz;Lk;  vd;fpwJ. 
a. ~uj;J 325  b. ~uj;J 21   c. ~uj;J 14 
d. ~uj;J 326  e. tpil njhpatpy;iy 

 
82. Who is the author of the book “Mein Kempf”? 

a. Benito Mussolini  b. Adolf Hitler   c. Karl Marx 
d. Antonio Gramsci   e. Answer not known 
‘vdJ Nghuhl;lk;’ (Mein Kempf) Gj;jfj;jpd; Mrphpah; ahh;? 
a. ngdpNlh KNrhypdp b. mlhy;g; `pl;yh;   c. fhuy; khh;f;]; 
d. md;Nlhdpah fpuhk;rp e. tpil njhpatpy;iy 

 
83. The total number of political parties contested in 1951- 1952 general elections is  

a. 51 parties   b. 52 parties    c. 54 parties 
d. 58 parties   e. Answer not known  
1951-52 nghJ Njh;jy;fspy; Nghl;bapl;l nkhj;j murpay; fl;rpfspd; vz;zpf;if. 
a. 51 fl;rpfs;  b. 52 fl;rpfs;    c. 54 fl;rpfs; 
d. 58 fl;rpfs;  e. tpil njhpatpy;iy 

 
84. The supreme court struck down which section of representation of the peoples 

act 1951, which allowed convicted MP’s and MLA’s, a three month period for 
filing their appeal to the High court? 
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a. section 8 (4)  b. section 8 (3)   c. section 8 (2) 
d. section 8 (5)  e. Answer not known 
ehlhSkd;w kw;Wk; rl;lkd;w cWg;gpdh;fs; jk;kPJ Fw;wk; ep&gpf;fg;gl;L 
jz;lidf;fhf jPh;g;G toq;fg;gl;lhy; cah;ePjpkd;wj;jpy; Nky;KiwaPL nra;tjw;F 
%d;W khj fhy mtfhrk; toq;Fk; kf;fs; gpujpepjpj;Jtr; rl;lk; 1951 d; ve;j 
gphpit cr;rePjpkd;wk; epuhfhpj;jJ? 
a. gphpT 8(4)   b. gphpT 8(3)     c. gphpT 8(2) 
d. gphpT 8(5)   e. tpil njhpatpy;iy 

 
85. The Anti defection law is applicable to  

1. MP’S     2. MLA’S 
3. Representatives of local bodies 
a. All are correct  b. 1, 2 are correct  c. 2, 3 are correct 
d. 1, 3 are correct  e. Answer not known 
fl;rpj;jhty; jLg;Gr; rl;lk; nghUe;JtJ? 
1. MP f;fs;     2. MLA f;fs; 
3. cs;shl;rp mikg;Gfspd; gpujpepjpfs; 
a. midj;Jk; rhp  b. 1> 2 rhp    c. 2> 3 rhp 
d. 1> 3 rhp   e. tpil njhpatpy;iy 
 

86. The idea of state funding of elections was backed by  
a. Indrajit Gupta Committee – 1998  
b. Tarkunde committee – 1974 
c. Vohra committee – 1993    
d. Dinesh Goswami committee – 1990 
e. Answer not known 
Njh;jy;fSf;F murpd; epjpAjtpia Mjhpj;j FO 
a. ,e;jpu[pj; Fg;jh FO – 1998   
b. jhh;Fz;Nl FO - 1974 
c. Nth`;uh FO – 1993     
d. jpNd~; Nfh];thkp FO - 1990 
e. tpil njhpatpy;iy 

 
87. Which of the following are Urban local bodies? 

1. Corporation    2. Municipality  
3. Cantonment boards  4. Town panchayats 
a. 1, 2, 3, 4 are correct b. 1, 2, 4 are correct  c. 1, 2, 3 are correct 
d. 1, 3, 4 are correct  e. Answer not known 
gpd;tUtdtw;wpy; efh;g;Gw cs;shl;rp mikg;Gfs; ahit? 
1. khefuhl;rp    2. efuhl;rp 
3. fz;Nlhd;kd;l; thhpaq;fs; 4. efug; gQ;rhaj;Jfs; 
a. 1> 2> 3> 4 rhp  b. 1> 2> 4 rhp   c. 1> 2> 3 rhp 
d. 1> 3> 4 rhp   e. tpil njhpatpy;iy 

 
88. Consider the following statements 

1. Municipal corporations are established in metropolitan cities with 
population of 1 million plus cities. 

2. Increase in population in cities is due to rural urban migration. 
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a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
1. khefuhl;rpfs; vd;git> gj;J yl;rj;jpw;Fk; (1 kpy;ypad;) mjpfkhd 

kf;fs;njhif nfhz;l ngUefuq;fspy; Vw;gLj;jg;gl;Ls;sd. 
2. efuq;fspy; kf;fs;njhif mjpfhpg;G fpuhkg;Gw kw;Wk; efh;g;Gw ,lk;ngah;T 

fhuzkhf cs;sJ.  
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 

89. Which of the following are the taxes paid to local bodies? 
1. Property tax  2. Water tax  3. Wealth tax 
4. Drainage tax  5. Octroi 
a. All the above are correct  b. 1, 2, 4 are correct c. 1, 2, 3, 5 are correct 
d. 1, 2, 4, 5 are correct  e. Answer not known 
fPo;f;fz;ltw;wpy; cs;shl;rp mikg;GfSf;F nrYj;jg;gLk; thpfs; ahit? 
1. nrhj;J thp  2. jz;zPh; thp  3. nry;t thp 
4. tbfhy; thp  5. Mf;l;uha; thp 
a. midj;J rhp  b. 1> 2> 4 rhp  c. 1> 2> 3> 5 rhp 
d. 1> 2> 4> 5   e. tpil njhpatpy;iy 

 

90. Who was the person published the blue print of the Gandhian constitution for 
free India where in panchayats are basic institutions for organising social, 
economic and political activities of citizens. 
a. MN Roy   b. BN Rau  c. Acharya Vinobha Bhave 
d. Shrima Narayan  e. Answer not known 
_______ vd;gth; Rje;jpu ,e;jpahtpw;fhd fhe;jpa murpayikg;G njhlh;ghd xU 
jpl;l tiuglj;ij jahhpj;jhh;;. mjpy; Fbkf;fspd; r%f nghUshjhu> murpay; 
eltbf;iffSf;fhd mbg;gil mikg;ghf gQ;rhaj;Jfs; ,Uf;Fk;gb 
mikj;jhh;/ 
a. MN uha;    b. BN uht;  c. Mr;rhh;a tpNdhghghNt 
d. =khd; ehuhazd;  e. tpil njhpatpy;iy 
 

91. Name the programme launched with main focus of securing socio economic 
transformations of village through people’s own democratic and cooperative 
organisations with the government, providing technical services, supply and 
credit. 
a. Community development programme, 1952  
b. National extension service, 1953 
c. THAI Scheme      
d. National rural livelihood mission, 2011. 
e. Answer not known 
gpd;tUk; ve;j jpl;lj;jpd; Kf;fpa Nehf;fk; kf;fspd; $l;L Kaw;rpapd; %yk; 
fpuhkq;fspd; r%fg; nghUshjhu khw;wj;ij cWjp nra;jyhFk;. NkYk; ,jw;F 
njhopy;El;g xj;Jiog;Gk;> epjp gq;fspg;igAk; muR nra;Ak;? 
a. r%f Nkk;ghl;Lj; jpl;lk; 1952   
b. Njrpa tphpthf;f Nrit 1953 
c. jha; jpl;lk;       
d. Njrpa Cuf tho;thjhu ,af;fk; 2011 
e. tpil njhpatpy;iy 
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92. Consider the following statements 
1. In 1956, under the 2nd five year plan (1956- 1961), it was recommended that 

village panchayats should organically link with popular organisations at 
higher levels. 

2. In 1957, government of India appointed a committee under the chairmanship 
of Balwant Rai Mehta. 

a. 1 is correct   b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;wfis Muha;f. 
1. ,uz;lhtJ Ie;jhz;L jpl;l (1956-61) fhykhd 1956y; fpuhk gQ;rhaj;Jf;fs;> 

mikg;G hPjpahf cah;epiyfspy; cs;s kf;fs; eph;thf mikg;GfSld; 
,izf;fg;gl Ntz;Lk; vd;W ghpe;Jiuf;fg;gl;lJ. 

2. 1957k; Mz;L jpl;l tbtikg;Gf; FO xd;iw gy;te;j;uha; Nkj;jh jiyikapy; 
kj;jpa murhq;fk; mikj;jJ. 

a. 1 rhp   b. 2 rhp    c. ,uz;Lk; rhp 

d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
 

93. Which of the following committees were formed between 1978 and 1986 to look 
into various aspects of strengthening the local self government institutions. 
1. CH Hanumantha Rao Committee 
2. GVK Rao Committee 
3. LM Singhvi Committee. 
a. All are correct  b. 1, 2 are correct  c. 2, 3 are correct 
d. 1, 3 are correct  e. Answer not known 
gpd;tUk; FOf;fspy; 1978 Kjy; 1986 ,ilapyhd fhyfl;lq;fspy; cs;shl;rp 
murhq;f mikg;Gfis tYg;gLj;j mikf;fg;gl;l FOf;fs; ahit? 
1. CH mDke;j; uht; FO  2. GVK uht; FO 
3. LM rpq;tp FO 
a. midj;Jk; rhp  b. 1> 2 rhp    c. 2> 3 rhp 
d. 1> 3 rhp   e. tpil njhpatpy;iy 

94. Which article inserted by 73rd constitutional amendment, envisages that states 
and union territories except those with population not exceeding 20 lakhs, will 
have to institute a three tier system of panchayat? 
a. Article 243A   b. Article 243B  c. Article 243C 
d. Article 243D   e. Answer not known 
kf;fs;njhif ,UgJ ,yl;rj;jpw;Fk; kpfhky; cs;s khepyq;fs; kw;Wk; A+dpad; 
gpuNjrq;fs;> fpuhkk;> xd;wpak; kw;Wk; khtl;lj;ijf; nfhz;l %d;wLf;F 
gQ;rhaj;J mikg;ig Vw;gLj;j Ntz;Lk; vd $Wk; 73tJ murpayikg;G 
rl;ljpUj;jk; %yk; Nrh;f;fg;gl;l murpayikg;G rl;lg; gphpT. 
a. ~uj;J 243A   b. ~uj;J 243B  c. ~uj;J 243C 
d. ~uj;J 243D   e. tpil njhpatpy;iy 

 
95. Who specifies the territorial area of the village panchayat by a public 

notification? 
a. Chief Minister  b. Governor   c. Tahsildar   
d. VAO   e. Answer not known 
xU fpuhk gQ;rhaj;jpd; vy;iyia xU mwpf;if %ykhf jPh;khdpg;gth; ahh;? 
a. Kjy;th;    b. MSeh;   c. jhrpy;jhh; 
d. VAO   e. tpil njhpatpy;iy 
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96. Consider the following statements 
1. All the seats in a panchayat shall be filled by persons by direct election from 

territorial constituencies. 
2. The chairperson of each panchayat shall be elected uniformly across Indian 

states. 
a. 1 is correct   b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;wfis Muha;f 
1. xU gQ;rhaj;jpYs;s midj;J ,lq;fSk; njhFjp kf;fspd; Nehpilahd 

Njh;jy; %yk; epug;gg;gl Ntz;Lk;. 
2. xt;nthU gQ;rhaj;jpYk; gQ;rhaj;Jj; jiyth; midj;J khepyj;jpYk; xNu 

khjphpahf Njh;e;njLf;fg;gLfpwhh;. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 
97. Consider the following statements regarding 73rd amendment act, 1992 

1. The amendment provided reservation of seats for schedule castes and 
scheduled tribes in all three tiers. 

2. It also provided a reservation of not less than half of seats for women. 
a. 1 is correct   b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
73tJ murikg;G rl;ljpUj;jk; 1992d; gb gpd;tUk; $w;Wfis Muha;f. 
1. %d;wLf;F gQ;rhaj;J mikg;gpy;> ,j;jpUj;jk; gl;baypdj;Njhh; kw;Wk; 

goq;FbapdUf;F ,l xJf;fPL toq;fpaJ. 
2. ngz;fSf;F ghjp ,lq;fSf;F Fiwahj ,l xJf;fPl;ilAk; toq;fpaJ. 
a. 1 rhp   b. 2 rhp    c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 
98. The cantonments act was passed in the year 

a. 1923   b. 1924    c. 1925   
d. 1926   e. Answer not known 
ghisa thhpaq;fs; rl;lk; epiwNtw;wg;gl;l Mz;L 
a. 1923   b. 1924    c. 1925   
d. 1926   e. tpil njhpatpy;iy 

 
99. Consider the following statements 

1. A town panchayat is constituted for a transitional area. 
2. The population of town panchayat is 5000 or more but less than 15000. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;wfis Muha;f. 
1. efug; gQ;rhaj;J xU efuhl;rpf;Fk;> Cuhl;rpf;Fk; ,ilg;gl;l Xh; epiyahFk;. 
2. ,jd; kf;fs; njhif 5000f;F NkYk; 15000f;F kpfhkYk; ,Uf;Fk;. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 
100. How many functions of municipal corporations are enlisted in XII schedule? 

a. 18 functions  b. 29 functions   c. 32 functions 
d. 40 functions  e. Answer not known 
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gdpnuz;lhtJ ml;ltizapy; cs;s efuhl;rpapd; gzpfs; vj;jid? 
a. 18 gzpfs;   b. 29 gzpfs;    c. 32 gzpfs; 
d. 40 gzpfs;  e. tpil njhpatpy;iy 

 
101. The UN Proclamation on Race, Religion and Lingual Minorities was made on  

a. 18 December, 1992 b. 18 January, 1993  c. 18 June, 1992  
d. 18 July, 1992  e. Answer not known 
,d> kj> nkhop rpWghd;ikapdUf;fhd I.eh. gpufldk; cUthdJ. 
a. 18 brk;gh; 1992  b. 18 [dthp 1993  c. 18 [Pd; 1992 
d. 18 [Piy 1992  e. tpil njhpatpy;iy 

 
102. The first commission for backward class community was headed by 

a. Sattanathan  b. Kaka Kelkar   c. BP Mandal 
d. Purushothaman  e. Answer not known 
gpw;gLj;jg;gl;l tFg;gpdUf;fhd Kjy; Mizak; ahh; jiyikapy; 
mikf;fg;gl;lJ. 
a. rl;lehjd;   b. fhfhfNyf;fh;   c. gp.gp.kz;ly; 
d. GUN~hj;jkd;  e. tpil njhpatpy;iy 

 
103. The Non brahmin Manifesto was published in December 1916 by  

a. Pitti Theagarayar  b. TM Nair   c. C Natesanar 
d. Raja of panangal  e. Answer not known 
gpuhkzuy;yhNjhh; mwpf;if 1916 brk;ghpy; ahuhy; ntspaplg;gl;lJ? 
a. gpl;b jpahfuhah;   b. TM ehah;   c. C. eNlrdhh; 
d. gdfy; uh[h  e. tpil njhpatpy;iy 

 
 
104. Choose the correct pairs 

1. 1st Communal Go – 15 September 1921 
2. 2nd Communal Go – 15 August 1922 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong   e. Answer not known 
1. Kjy; tFg;G thj gpujpepjpj;Jt Miz – 15 nrg;lk;gh; 1921 
2. ,uz;lhk; tFg;G thj gpujpepjpj;Jt Miz – 15 Mf];l; 1922 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 
105. In 1928, communal G.O was implemented in all government departments during 

the leadership of  
a. R Muthiah   b. Munusamy   c. PT Rajan 
d. RK Shanmugam  e. Answer not known 
1928y; ahh; jiyikapy; ePjpf;fl;rp nray;gl;lNghJ murpd; vy;yhj; JiwfspYk; 
gzpepakdq;fs; Kiwg;gLj;jg;gl;L murhiz %yk; tFg;Gthhp gpujpepjpj;Jtk; 
epue;jukhf;fg;gl;lJ? 
a. ,uh Kj;ijah  b. KDrhkp    c. PT uh[d; 
d. RK rz;Kfk;  e. tpil njhpatpy;iy 

 
106. In 1951, a suit in the high court of Madras was filed against communal 

representation by  
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a. AK Gopalan   b. Sattanathan  c. Kamaraj 
d. Chenbagam Durairajan  e. Answer not known 
ahuhy; 1951y;> kjuh]; cah;ePjpkd;wj;jpy; tFg;Gthj gpujpepjpj;Jtjw;F vjpuhf 
tof;Fj; jhf;fy; nra;ag;gl;lJ. 
a. V.Nf. Nfhghyd;    b. rl;lehjd;   c. fhkuh[;  
d. nrz;gfk; Jiuuh[d;  e. tpil njhpatpy;iy 

 
107. Which constitutional amendment act incorporated the reservation policy of 

Tamil Nadu government in IX schedule of Indian constitution. 
a. 76th amendment act, 1994 b. 76th amendment act, 1996 
c. 91st amendment act, 2003 d. 80th amendment act, 2000 
e. Answer not known 
gpd;tUk; ve;j murpayikg;G rl;ljpUj;jk; %yk; jkpof murpd; ,lxJf;fPl;L 
rl;lk; ,e;jpa murpay; rl;lj;jpd; Xd;gjhtJ ml;ltizapy; ,izf;fg;gl;lJ. 
a. 76tJ jpUj;jrl;lk; 1994  b. 76tJ jpUj;jrl;lk; 1996 
c. 91tJ jpUj;jrl;lk; 2003  d. 80tJ jpUj;jrl;lk; 2000  
e. tpil njhpatpy;iy 

 
108. Mandal commission identified how many castes under backward community? 

a.3742 castes   b. 3743 castes   c. 3752 castes 
d. 3734 castes   e. Answer not known 
kz;ly; FO gpw;gLj;jg;gl;l r%fj;jpd; fPo; vj;jid rhjpfis milahsk; 
fz;lJ? 
a. 3742 rhjpfs;  b. 3743 rhjpfs;   c. 3752 rhjpfs; 
d. 3734 rhjpfs;  e. tpil njhpatpy;iy 

109. The Madras presidency in 19th century comprised which of the following areas? 
1. Andhra Pradesh  2. Entire Kerala  3. Southern Karnataka 
4. Lakshadweep  5. Andaman and Nicobar 
a. 1, 2, 4 are correct  b. 2, 3, 5 are correct  c. 3, 4, 5 are correct 
d. 1, 3, 4 are correct  e. Answer not known 
19k; E}w;whz;by; nrd;id khfhzk; gpd;tUk; ve;jg; gFjpfis cs;slf;fpaJ? 
1. Me;jpug; gpuNjrk;  2. Nfush KOtJk;  3. njw;F fh;ehlhfh 
4. yl;rj;jPTfs;  5. me;jkhd; epNfhghh; 
a. 1> 2> 4 rhp   b. 2> 3> 5 rhp   c. 3> 4> 5 rhp 
d. 1> 3> 4 rhp   e. tpil njhpatpy;iy 

 
110. Consider the following statement 

1. The Montague Chelmsford reforms introduced dyarchy in provinces. 
2. Indian national congress won a majority of seats in the first elections under 

dyarchy in 1920. 
a. 1 is correct   b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;wfis Muha;f 
1. khz;NlF nrk;];Nghh;L rPh;jpUj;jq;fs; khfhzq;fspy; ,ul;ilahl;rpia 

mwpKfg;gLj;jpaJ. 
2. ,ul;ilahl;rpapd; fPo; 1920 Mz;L ele;j Kjy; Njh;jypy; ,e;jpa Njrpa 

fhq;fpu]; ngUk;ghyhd ,lq;fspy; ntw;wpngw;wJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
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111. “Noon Meal Scheme” was first introduced in Tamil Nadu by  
a. Congress Government b. Justice party  c. DMK Government 
d. ADMK Government e. Answer not known 
“kjpa czTj; jpl;lk;” Kjd;Kjypy; jkpofj;jpy; mwpKfg;gLj;jpaJ 
a. fhq;fpu]; muR  b. ePjpf;fl;rp   c. jpKf muR 
d. mjpKf muR  e. tpil njhpatpy;iy 

 
112. Knowledge of Sanskrit as the basic eligibility for medical education was removed 

by  
a. K Kamaraj   b. Aringar Anna  c. MG Ramachandran 
d. Justice party  e. Answer not known 
kUj;Jtk; fy;tpf;F rk];fpUj mwpT mbg;gilj; jFjp vd;gij ePf;fpaJ? 
a. F. fhkuh[;  b. mwpQh; mz;zh  c. MG uhkr;re;jpud; 
d. ePjpf;fl;rp   e. tpil njhpatpy;iy 

 
113. Consider the following statement 

1. Annamalai University was founded in 1929. 
2. Andhra University was founded in 1927. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;wfis Muha;f 
1. mz;zhkiyg; gy;fiyf; fofk; 1929 y; cUthf;fg;gl;lJ 
2. Me;jpuh gy;fiyf; fofk; 1927y; cUthf;fg;gl;lJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 
114. In which of the following events periyar campaigned against caste 

discrimination.  
1. Vaikom Satyagraha 
2. Anti Hindi agitation 
3. Cheranmadevi Gurukula incident. 
a. 1, 3 only  b. 2, 3 only    c. 1, 2 only 
d. 1, 2 and 3   e. Answer not known 
gpd;tUk; epfo;Tfspy; rhjp ghFghl;bw;F vjpuhf nghpahh; gpur;rhuk; nra;jJ? 
1. itf;fk; rj;jpahfpufk; 
2. ,e;jp vjph;g;G Nghuhl;lk; 
3. Nrud;kfh Njtp FUFy rk;gtk; 
a. 1> 3 kl;Lk; b. 2> 3 kl;Lk;   c. 1> 2 kl;Lk; 
d. 1> 2> 3 kl;Lk;  e. tpil njhpatpy;iy 

 
115. Match the following 

A. Kudiarasu   1. 1928 
B. Revolt   2. 1933 
C. Puratchi   3. 1935 
D. Paghutharivu  4. 1925 
E. Viduthalai   5. 1934 
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 A B C D E  
a. 4 1 2 5 3 
b. 1 4 3 5 2 
c. 3 1 2 4 5 
d. 5 1 4 3 2 
e. Answer not known 
nghUj;Jf 
A. FbauR   1. 1928 
B. hpNthy;l;   2. 1933 
C. Gul;rp   3. 1935 
D. gFj;jwpT   4. 1925 
E. tpLjiy   5. 1934 

A B C D E  
a. 4 1 2 5 3 
b. 1 4 3 5 2 
c. 3 1 2 4 5 
d. 5 1 4 3 2 
e. tpil njhpatpy;iy 

 

116. Match the following 
Self Respect conference   place  
A. 1st conference    1. Erode  
B. 2nd conference    2. Chengalpattu  
C. 3rd conference    3. Virudhunagar  
 A B C 
a. 2 1 3 
b. 1 2 3 
c. 3 2 1 
d. 3 1 2 
e. Answer not known 
nghUj;Jf 
Ra khpahij khehLfs;   ,lq;fs; 
A. Kjy; khehL    1. <NuhL 
B. 2 k; khehL    2. nrq;fy;gl;L 
C. 3 k; khehL    3. tpUJefh; 

A B C 
a. 2 1 3 
b. 1 2 3 
c. 3 2 1 
d. 3 1 2  e. tpil njhpatpy;iy 

 

117. Consider the following statement 
1. In 1937 elections in Tamil Nadu, congress party won a majority every seats 

except one. 
2. Communist party was formally launched in 1924. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
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gpd;tUk; $w;wfis Muha;f 
1. 1937y; jkpo;ehL Njh;jypy; fhq;fpu]; fl;rp xhplj;ijf; jtpu midj;J 

,lq;fspYk; ngUk;ghd;ik ntw;wp ngw;wJ 
2. 1924y; fk;A+dp];l; fl;rp njhlq;fg;gl;lJ 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
118. Hindi was made as the official language of Indian union on 26 January, 1965 

under the provisions of  
a. Article 343   b. Article 340   c. Art 342 
d. Art 345   e. Answer not known 
1965 Mk; Mz;L [dthp khjk; 26k; ehs; ,e;jpa murpayikg;G rl;lj;jpd; _______ 
gphptpd;gb ,e;jpnkhop ,e;jpa ehl;bd; mYty; nkhopahf;fg;gl;lJ 
a. ~uj;J 343  b. ~uj;J 340   c. ~uj;J342 
d. ~uj;J 345  e. tpil njhpatpy;iy 

 
119. Consider the following statement 

1. Kulakalvi scheme of elementary education was introduced by Rajaji during 
his first regime in 1937 

2. Periyar opposed the kulakalvi thittam. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
 
gpd;tUk; $w;Wfis Muha;f 
1. njhlf;ff; fy;tpf;fhd Fyf;fy;tpj; jpl;lk; uh[h[p jdJ Kjy; Ml;rpf; 

fhyj;jpy; mwpKfg;gLj;jpdhh; 
2. nghpahh; Fyf;fy;tpj; jpl;lj;ij vjph;j;jhh; 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 

120. Which part of the Indian constitution has provisions for the government to make 
laws to address many problems prevalent in the Indian society? 
a. Part III   b. Part IV   c. Part XIV 
d. Part XI   e. Answer not known 
,e;jpa r%fj;jpy; epyTk; gy gpur;ridfSf;F jPh;T fhz;gjw;F murhq;fk; 
rl;lq;fis ,aw;Wtjw;fhd Vw;ghLfs; ,e;jpa murpayikg;gpd; ve;jg; gFjpapy; 
cs;sJ. 
a. gFjp III   b. gFjp IV   c. gFjp XIV 
d. gFjp XI   e. tpil njhpatpy;iy 

 

121. How many members appended their signatures to the constitution as finally 
passed? 
a. 289 members  b. 284 members  c. 389 members 
d. 217 members  e. Answer not known 
,Wjpahf epiwNtw;wg;gl;l murpayikg;gpy; vj;jid cWg;gpdh;fs; jq;fs; 
ifnahg;gq;fis ,l;Ls;sdh;? 
a. 289 cWg;gpdh;fs;  b. 284 cWg;gpdh;fs;  c. 389 cWg;gpdh;fs; 
d. 217 cWg;gpdh;fs;  e. tpil njhpatpy;iy 
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122. Match the following 
Subjects     Source constitution 
A. Concurrent list    1. French 
B. Republic     2. South Africa 
C. Election of members of Rajya Sabha 3. Australia 
D. Strong Centre    4. Canada 
 A B C D 
a. 4 2 1 3 
b. 3 1 2 4 
c. 1 3 2 4 
d. 3 1 4 2  e. Answer not known 
nghUj;Jf 
gFjpfs;     %y murpayikg;G 
A. nghJg;gl;bay;    1. gpnuQ;R 

B. FbauR     2. njd;dhg;gphpf;fh 
C. uh[;a rgh cWg;gpdh; Njh;jy;  3. M];jpNuypah 
D. typikahd xd;wpak;   4. fdlh 
 A B C D 
a. 4 2 1 3 
b. 3 1 2 4 
c. 1 3 2 4 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
 

123. Who said, “Villages were nothing but a sink of localism, a den of ignorance and 
communalism”? 
a. Mahatma Gandhi  b. Jawaharlal Nehru  c. BR Ambedkar 
d. K Kamaraj   e. Answer not known 
“fpuhkq;fs; vd;gJ cs;Sh;thjj;jpy; %o;fp> tFg;Gthjk; kw;Wk; mwpahikapd; 
FifNa jtpu Ntwpy;iy” vd;wth;? 
a. kfhj;kh fhe;jp  b. [t`h;yhy; NeU  c. BR mk;Ngj;fh; 
d. F. fhkuh[;  e. tpil njhpatpy;iy 

 
124. Which article states that the state shall take steps to organise village panchayat 

and endow them with such powers and authority as may be necessary to enable 
them to function as units of self government? 
a. Article 243   b. Article 243G   c. Article 40 
d. Article 41   e. Answer not known 
fpuhk gQ;rhaj;J mikj;J mjw;Fhpa gzpfs; kw;Wk; mjpfhuq;fis 
xOq;fikj;J mtw;iw cs;shl;rp murpd; myFfshf nray;gLkhW 
ghpe;Jiuf;Fk; ~uj;J vJ? 
a. ~uj;J 243  b. ~uj;J 243G   c. ~uj;J 40 
d. ~uj;J 41   e. tpil njhpatpy;iy 

 
125. The official language bill was introduced in the year 

a. 1961   b. 1962    c. 1963 
d. 1964   e. Answer not known 
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Ml;rp nkhop kNrhjh mwpKfg;gLj;jg;gl;l Mz;L 
a. 1961   b. 1962    c. 1963 
d. 1964   e. tpil njhpatpy;iy 

 
126. The rights of Transgender persons bill, 2014 was passed by upper house on 

a. 26 February, 2016  b. 24 April, 2015  c. 24 April, 2016 
d. 24 April, 2014  e. Answer not known 
jpUeq;iffs; chpikfs; kNrhjh> 2014 Nkyitapy; epiwNtw;wg;gl;l ehs;. 
a. 26 gpg;uthp 2016  b. 24 Vg;uy; 2015  c. 24 Vg;uy; 2016 
d. 24 Vg;uy; 2014  e. tpil njhpatpy;iy 

 
127. Article 370 was drafted by 

a. BR Ambedkar  b. KM Munshi c. TT Krishnamachari  
d. Gopalasamy Ayyangar e. Answer not known 
~uj;J 370I cUthf;fpath; 
a. BR mk;Ngj;fh;  b. KM Kd;~p c. TT fpU~;zkhr;rhhp 
d. Nfhghyrhkp Iaq;fhh; e. tpil njhpatpy;iy 

 
128. Consider the following statements. 

1. The constitution (108th amendment) bill was passed by Rajya Sabha in 2010. 
2. It proposes 33% reservation for women in parliament and state legislatures. 
a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. 108 tJ murpayikg;G jpUj;j kNrhjh 2010y; khepyq;fsitapy; 

epiwNtw;wg;gl;lJ. 
2. ghuhSkd;wk; kw;Wk; khepy rl;lkd;wq;fspy; ngz;fSf;F 33% ,lxJf;fPl;il 

,J Kd;nkhopfpwJ. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
129. Consider the following statements. 

1. The speaker of Lok Sabha is the administrative head of the parliamentary 
secretariat. 

2. Point of order is an instrument to condemn a member for the breach of 
privilege. 

a. 1 is correct   b. 2 is correct   c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. kf;fsit rghehafh; ghuhSkd;w nrayfj;jpd; eph;thfj; jiytuhf cs;shh;. 
2. mit xOq;Fg; gpur;rid vd;gJ xU cWg;gpdiu rpwg;Ghpik kPwYf;F 

fz;ldk; nra;tjw;fhd fUtpahFk;. 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
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130. Consider the following statements. 
1. It is the speaker who decides on granting recognition to the leader of 

opposition in the House of people. 
2. Under 62nd amendment, the speaker has the disciplinary power to disqualify 

a member of the house on the grounds of defection. 
a. 1 is correct   b. 2 is correct  c. Both are correct 
d. Both are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. kf;fsitapd; vjph;f;fl;rpj; jiytUf;F> mq;fPfhuk; toq;FtJ Fwpj;J 

rghehafh; jhd; KbT nra;thh;. 
2. murpayikg;G 62tJ jpUj;jr; rl;lg;gb xU cWg;gpdiu fl;rpj;jhty; 

mbg;gilapy; jFjpapog;G nra;J xOq;F eltbf;if vLf;Fk; mjpfhuk; 
mtUf;F cs;sJ. 

a. 1 rhp   b. 2 rhp    c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
131. Which of the following articles confer special powers on Rajya Sabha? 

1. Article 249   2. Article 248   3. Article 312 
a. 1, 2 and 3 are correct b. 1 and 3 are correct c. 1 and 2 are correct 
d. 2 and 3 are correct e. Answer not known 
gpd;tUk; ~uj;Jfspy; khepyq;fsitf;F rpwg;G mjpfhuk; toq;FtJ vJ? 
1. ~uj;J 249   2. ~uj;J 248  3. ~uj;J 312 
a. 1> 2> 3 rhp   b. 1> 3 rhp   c. 1> 2 rhp 
d. 2> 3 rhp   e. tpil njhpatpy;iy 
 

132. Consider the following statements relating to the sources of the constitution. 
I. Provision relating to the Election of members to Rajya Sabha was 

borrowed from the South African constitution. 
II. Provision relating to the concurrent list was borrowed from the Australian 

constitution 
III. Provisions relating to the concept of ideals of Justice was borrowed from 

the French Constitution 
IV. Provision related to the Suspension of Fundamental Rights during 

emergency was borrowed from the German Constitution  
a. I, II and IV is true  b. II and IV is true   c. I and III is true 
d. I alone is true  e. Answer not known 
murikg;G %yq;fs; njhlh;ghd gpd;tUk; $w;Wfis Ma;f 
I. khepyq;fsit cWg;gpdh;fs; Njh;T njhlh;ghd murikg;G $Wfs; 

njd;dhg;gphpf;f murpayikg;gpypUe;J ngwg;gl;lJ. 
II. nghJg;gl;bay; njhlh;ghd murikg;G $Wfs; M];jpNuypa 

murpayikg;gpypUe;J ngwg;gl;lJ. 
III. ePjpapd; khz;Gfs; njhlh;ghd murikg;G $Wfs; gpuhd;R 

murpayikg;gpypUe;J ngwg;gl;lJ. 
IV. mtru fhyq;fspd;NghJ mbg;gil chpikfs; uj;J nra;jy; njhlh;ghd 

$Wfs; n[h;kd; murpayikg;gpypUe;J ngwg;gl;lJ. 
a. I, II kw;Wk; IV rhp  b. II kw;Wk; IV rhp   c. I kw;Wk; III rhp 
d. I kl;Lk; rhp  e. tpilnjhpatpy;iy 
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133. Which among the following statement justifies the Federal feature of the Indian 
Constitution? 
a. India has indestructible Union with indestructible states 
b. India has destructible Union with destructible states 
c. India has destructible states with indestructible union 
d. India has destructible Union with indestructible states 
e. Answer not known 
gpd;tUk; $w;Wfspy; vJ ,e;jpa murpayikg;gpd; $l;lhl;rp rpwg;gk;rj;ij 
vLj;Jiuf;fpwJ? 
a. ,e;jpah rpijf;f Kbahj xd;wpaKk; rpijf;fKbahj khepyq;fSk; nfhz;l 

Ml;rp Kiw cilajhFk;. 
b. ,e;jpah rpijf;fj;jf;f xd;wpaKk; rpijf;fj;jf;f khepyq;fSk; nfhz;l Ml;rp 

Kiw cilajhFk;. 
c. ,e;jpah rpijf;fj;jf;f khepyq;fSk; rpijf;f Kbahj xd;wpaKk; nfhz;l 

Ml;rp Kiw cilajhFk;. 
d. ,e;jpah rpijf;fj;jf;f xd;wpaKk; rpijf;f Kbahj khepyq;fSk; nfhz;l 

Ml;rp Kiw cilajhFk;. 
e. tpil njhpatpy;iy 

 

134. Match list I (committees) with List II (chairman of the Committees)  
List I (Committees)    List II (Heads) 

 A. Provincial Constitution Committee 1. Pattabhi Sitaramayya 
 B. States Committee    2. Dr. Rajendra Prasad 
 C. Steering Committee   3. Sardar Patel 
 D. House Committee   4. Jawaharlal Nehru 
  A B C D 
 a. 3 4 1 2 
 b. 3 2 4 1 
 c. 3 4 2 1 
 d. 3 1 2 4 

e. Answer not known 
 FOf;fis mjd; jiyth;fSld; nghUj;Jf 
 gl;bay; I (FOf;fs;)   gl;bay; II (jiyth;fs;) 
 A. khfhz murpayikg;G FO  1. gl;lhgp rPjhuhka;ah 
 B. khepyq;fs; FO    2. lhf;lh;. ,uhN[e;jpu gpurhj; 
 C. topfhl;L FO    3. rh;jhh; gl;Nly; 
 D. mitf;FO    4. [t`h;yhy; NeU 
  A B C D 
 a. 3 4 1 2 
 b. 3 2 4 1 
 c. 3 4 2 1 
 d. 3 1 2 4 

e. tpilnjhpatpy;iy 
 
135. Consider the following statement with regards to the impact of Indian 

Independence Act of 1947, on the Constituent Assembly 
I. The Constituent Assembly was made a fully sovereign body 
II. The Assembly was made a legislative body, chaired by G.V. Mavlankar 
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III. The total strength of the assembly came down to 289 as against 389 
IV. The Muslim League members withdrew from the Constituent Assembly 

of India. 
a. All are true  b. I, II and III are true c. I, II and IV are true 
d. II, III and IV are true e. Answer not known 
,e;jpa tpLjiyr;rl;lk; 1947 murpayikg;G eph;za rigapy; Vw;gLj;jpa jhf;fk; 
njhlh;ghd gpd;tUk; $w;Wfis Ma;f 
I. KO ,iwahz;ik nfhz;l mikg;ghf murpay; eph;za rig khwpaJ 
II. murpay; eph;za rigahdJ G.V. kht;yhq;fupd; jiyikapd;fPo; 

rl;lkpaw;Wk; mikg;ghf khwpaJ. 
III. rigapd; nkhj;j vz;zpf;if 389ypUe;J 289 Mf Fiwe;jJ. 
IV. ,e;jpa murpay; eph;za rigapypUe;J K];yPk; yPf; cWg;gpdh;fs; 

ntspNawpdh;. 
a. midj;Jk; rhp  b. I, II kw;Wk; III rhp  c. I, II kw;Wk; IV rhp  
d. II, III kw;Wk; IV rhp e. tpilnjhpatpy;iy 

 
136. Consider the following statements with regard to the functions performed by the 

constituent assembly 
I. It adopted the National Flag on January 24, 1950 
II. It adopted the National Anthem on January 24, 1950 
III. It adopted the National Song on January 24, 1950 
IV. On 24th January, 1950 the Constituent Assembly held its final session 
 
a. I is true   b. II and III are false  c. I and IV are false  
d. II, III and IV are true e. Answer not known 
murpayikg;G eph;za rigapd; gzpfs; njhlh;ghd $w;Wfis Ma;f 
I. [dthp 24> 1950,y; Njrpa nfhbia Vw;Wf;nfhz;lJ 
II. [dthp 24> 1950,y; Njrpa fPjj;ij Vw;Wf;nfhz;lJ. 
III. [dthp 24> 1950,y; Njrpa ghliy Vw;Wf;nfhz;lJ. 
IV. [dthp 24> 1950,y; murpay; eph;za rig mjd; ,Wjp $l;lj;ij 

elj;jpaJ. 
a. I rhp   b. II kw;Wk; III jtW c. I kw;Wk; IV jtW  
d. II, III, IV rhp  e. tpilnjhpatpy;iy 

 
137. Match the following (Interim Government 1946) 

Members    Portfolio 
 A. C. Rajagopalachariar  1. External Affairs 
 B. Dr. Rajendra Prasad   2. Home, Information and Broadcasting 
 C. Sardar Vallabhbhai Patel 3. Food and Agriculture 
 D. Jawaharlal Nehru  4. Education and Arts 
  A B C D 
 a. 4 1 2 3 
 b. 2 3 1 4 
 c. 4 3 2 1 
 d. 1 2 3 4 

e. Answer not known 
  

 



 

43 | Page  044-24339436, 42867555, 9840226187 
 

nghUj;Jf (,ilf;fhy muR 1946) 
 A. C. uh[Nfhghyr;rhhpahh;  1. ntspAwT tptfhuk; 
 B. lhf;lh;. ,uhN[e;jpugpurhj; 2. cs;Jiw> jfty; kw;Wk; xspg;gug;G 

C. rh;jhh; ty;ygha; gl;Nly;  3. czT kw;Wk; Ntshz;ik 
D. [t`h;yhy;NeU   4. fy;tp kw;Wk; fiy 

  A B C D 
 a. 4 1 2 3 
 b. 2 3 1 4 
 c. 4 3 2 1 
 d. 1 2 3 4 

e. tpilnjhpatpy;iy 
 
138. Consider the following statement Relating to Drafting Committee 

I. The Drafting Committee prepared the first Draft of the Constitution of 
India, which was published on October 1948 

II. The Motion on Draft Constitution was declared as passed, by the 
Constituent Assembly on November 26, 1949 and the signatures of the 
members and the President were obtained. 

a. I is true   b. II is true   c. I and II is false  
d. I and II is true  e. Answer not known 
tiuTf; FO njhlh;ghd $w;Wfis Ma;f 
I. tiuTf;FO ,e;jpa murpayikg;gpd; Kjy; tiutpid jahhpj;J mf;Nlhgh; 

1948,y; ntspapl;lJ. 
II. murpayikg;gpd; tiuT etk;gh; 26> 1949,y; murpayikg;G eph;za 

rigahy; jPh;khdk; epiwNtw;wg;gl;L jiyth; kw;Wk; cWg;gpdh;fspd;; 
ifnahg;gk; ngwg;gl;lJ. 

a. I rhp   b. II rhp   c. I kw;Wk; II jtW  
d. I kw;Wk; II rhp  e. tpilnjhpatpy;iy 

 

139. Choose the correct statements on the Constituent Assembly 
1. The total strength of the Constituent Assembly was 389 
2. Election to the Constituent Assembly was held in July - August 1946 
3. Members of the Constituent Assembly were directly elected based on the 

Universal Adult Franchise  
4. Among 296 seats allotted to British India, The Indian National Congress won 

208 seats, Muslim League won 79 seats, Independent got the remaining 9 
seats. 

a. 1, 3 and 4  b. 1 and 4    c. 1 and 3        
d. 1 and 2  e. Answer not known 
gpd;tUk; $w;Wfspy; murpay; eph;za rig gw;wp rhpahdit vit? 
1. murpay; eph;za rigapd; nkhj;j cWg;gpdh;fspd; vz;zpf;if 389 
2. murpay; eph;za rigf;fhd Njh;jy; [{iy> Mf];l; 1946-,y; eilngw;wJ. 
3. murpay; eph;zarigapd; cWg;gpdh;fs; taJ te;Njhh; thf;Fhpik 

mbg;gilapy; Neubahf Njh;e;njLf;fg;gl;ldh;. 
4. gphpl;b~; ,e;jpahtpw;F xJf;fg;gl;l 296 ,lq;fspy; ,e;jpa Njrpa fhq;fpu]; 

208 ,lq;fspYk;> K];yPk; yPf; 79 ,lq;fspYk;> RNal;ir cWg;gpdh;fs; 9 
,lq;fspYk; ntw;wp ngw;wdh;. 

a. 1> 3 kw;Wk; 4 b. 1 kw;Wk; 4    c. 1 kw;Wk; 3  
d. 1 kw;Wk; 2  e. tpilnjhpatpy;iy 
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140. “It Resembles the Declaration of independence of the United States of America, 
but is more than a declaration. It is the soul of our Constitution ….” 
This Statement is attributed to  
a. Fundamental Duties  b. Fundamental Rights 
c. Preamble    d. DPSP 
e. Answer not known 
“,J mnkhpf;fhtpd; Rje;jpug; gpufldj;ij xj;jpUf;fpwJ> Mdhy; mnkhpf;fhtpd; 
gpufldj;ij tpl Nkk;gl;lJ> ,J murpayikg;gpd; Md;kh” 
Nkw;$wpa thf;fpak; vjDld; njhlh;GilaJ? 
a. mbg;gil flikfs;  b. mbg;gil chpikfs; 
c. Kfg;Giu    d. muR newpKiwf; Nfhl;ghLfs; 
e. tpil njhpatpy;iy 

 
141. Match the following 

List I (Schedule)  List II (Content) 
A. Second Schedule  1. Division of Powers 
B. Third Schedule  2. Forms of Oaths 
C. Fourth Schedule  3. Provision on emoluments, allowances, privileges  
D. Seventh Schedule 4. Seats in the Rajya Sabha 

A B C D 
a. 3 2 1 4 
b. 3 1 2 4 
c. 3 2 4 1 
d. 3 4 2 1 
e. Answer not known 
nghUj;Jf 
gl;bay; I (ml;ltiz)  gl;bay; II (mlf;fk;) 
A. ,uz;lhtJ ml;ltiz   1. mjpfhug; gfph;T 
B. %d;whtJ ml;ltiz   2. cWjpnkhopfspd; tbtq;fs; 
C. ehd;fhtJ ml;ltiz   3. Cjpak; toq;Fjy;> nfhLg;gdTfs;> rYiffs; 
D. VohtJ ml;ltiz   4. khepyq;fsitapy; cs;s ,lq;fs; 
 A B C D 
a. 3 2 1 4 
b. 3 1 2 4 
c. 3 2 4 1 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 

142. The cabinet mission which consisted of three members arrived in India on 
a. May 16, 1946  b. January 6, 1946  c. March 24, 1946  
d. April 26, 1946  e. Answer not known 
%d;W cWg;gpdh;fs; nfhz;l Nfgpdl;FO ,e;jpah vg;NghJ te;jJ? 
a. Nk 16> 1946  b. [dthp 6> 1946  c. khh;r; 24> 1946  
d. Vg;uy; 26> 1946  e. tpil njhpatpy;iy 
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143. Consider the following statement on citizenship  
1. The Indian constitution has provision for single citizenship 
2. It is provided by the union and need to be recognized by all the states across 

India 
3. Citizenship Act 1955, contains provisions regarding, registration of overseas 

citizen of India and their rights. 
4. The Citizenship Act 1955, regulates Citizenship in India after the adoption of 

the Indian Constitution 
Which among the following statement is/are correct? 
a. 1, 2 and 4 only  b. 1, 3 and 4 only  c. 2, 3 and 4 only  
d. All of the above  e. Answer not known 
FbAhpik Fwpj;j thf;fpaq;fisf; ftdp 
1. ,e;jpa murpayikg;G xw;iwf; FbAhpik jd;ik nfhz;lJ. 
2. ,J xd;wpaj;jhy; toq;fg;gLtJ kw;Wk; ,e;jpahtpd; midj;J khepyq;fshy; 

mq;fPfhpf;fg;gl Ntz;Lk;. 
3. FbAhpikr;rl;lk; 1955> ,e;jpa murpayikg;G ntspehL ,e;jpa Fbkfdpd; 

gjpT kw;Wk; chpik Fwpj;j gFjpfisf; nfhz;lJ. 
4. FbAhpikr; rl;lk; 1955> ,e;jpaf; FbAhpikia ,e;jpa murpayikg;G 

Vw;Wf;nfhz;ljw;Fg;gpd; xOq;FgLj;JfpwJ. 
a. 1, 2 kw;Wk;  4 kl;Lk; b. 1, 3 kw;Wk;  4 kl;Lk; c. 2, 3 kw;Wk;  4 kl;Lk; 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

144. The Sixth Schedule of the Constitution is applicable to the States of 
1. Assam     2. Manipur    3. Nagaland 4. Meghalaya    
5. Tripura     6. Mizoram    7. Sikkim 8. Arunachal Pradesh 
a. 1, 4, 5 and 6 only  b. 1, 2, 5 and 6 only  c. 1, 3, 4 and 5 only  
d. 1, 4, 6 and 8 only  e. Answer not known 
murpayikg;gpd; MwhtJ ml;ltizahdJ nghUe;jf;$ba  khepyq;fshtd 
_________.  
1. m];]hk;   2. kzpg;G+h; 3. ehfhyhe;J  4. Nkfhyah  
5. jphpGuh  6. kpNrhuk;  7. rpf;fpk;  8. mUzhr;rygpuNjrk;  
a. 1, 4, 5 kw;Wk; 6  b. 1, 2, 5 kw;Wk; 6  c. 1, 3, 4 kw;Wk; 5  
d. 1, 4, 6 kw;Wk; 8   e. tpil njhpatpy;iy 

 

145. Which one of the following statement is incorrect regarding the Directive 
principles? 
a. DPSPs are the non-justiciable that is they are not legally enforceable by the 

courts for their violation. 
b. DPSPs require legislation for their implementation they are not automatically 

enforced. 
c. DPSPs aim is to establishing political democracy in the country. 
d. The courts cannot declare a law violative of any of the directive principle as 

unconstitutional and invalid. 
e. Answer not known 
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muRf;F topfhl;Lk; newpKiwf; nfhs;iffis nghWj;J gpd;tUk; $w;Wfspy; 
jtwhdJ vJ?  
a. muR newpKiwf; Nfhl;ghl;il kPWk; NghJ> mij vjph;j;J ePjpkd;wj;jhy; 

tof;F njhlu KbahJ.  
b. DPSP MdJ jhdhf nray;gLj;jg;gLtjpy;iy ,tw;iw nray;gLj;j rl;lk; 

Njitg;gLfpwJ.  
c. DPSP – d; Fwpf;NfhshdJ ehl;by; murpay; [dehafj;ij Vw;gLj;JtjhFk;. 
d. ePjpkd;wq;fs; muR newpKiwf; Nfhl;ghl;il kPWk; ve;jnthU rl;lj;ijAk; 

murpayikg;gw;wJ vd;W mwptpj;J ePf;f KbahJ. 
e. tpil njhpatpy;iy 

 
146. In the context of India, which of the following principles is / are implied 

institutionally in the parliamentary government? 
1. Members of Cabinet are Members of the Parliament 
2. Ministers hold the office till they enjoy confidence in the Parliament 
3. Cabinet is headed by the Head of the State. 
Select the correct answer using the codes given below. 
a. 1 and 2 only b. 3 only   c. 2 and 3 only  
d. 1, 2 and 3  e. Answer not known 
,e;jpahitg; nghWj;j tiu ehlhSkd;w murhl;rpapy; fPo;f;fhZk; Nfhl;ghLfspy; 
vJ gpd;gw;wg;gLfpwJ?  
1. mikr;ruit cWg;gpdh;fs; midtUk; ehlhSkd;w cWg;gpdh;fs; Mthh;.  
2. ehlhSkd;wj;jpd; ek;gpf;if ePbf;Fk; tiu mikr;rh;fs; gjtp tfpg;gh;  
3. mikr;ruit murpd; jiytuhy; jiyik jhq;fg;gLfpd;wJ 
fPo;f;fz;l FwpaPLfis gad;gLj;jp rhpahd tpiliaj; Njh;e;njL. 
a. 1, 2 kl;Lk;  b. 3 kl;Lk;   c. 2 kw;Wk; 3 kl;Lk;  
d. 1, 2, 3   e. tpil njhpatpy;iy 
 

147. The order of following words seen in Preamble is 
1. Democratic 2. Socialist  3. Sovereign  4. Secular  5. Republic 
a. 3, 2, 4, 1, 5  b. 2, 3, 4, 1, 5   c. 3, 2, 1, 4, 5  
d. 3, 1, 2, 5, 4  e. Answer not known 
fPo;f;fhZk; nrhw;fs; Kfg;Giuapy; ve;j thpirapy; ,lk; ngw;Ws;sd? 
1. kf;fshl;rp   2. rkjh;kk;  3. ,iwahz;ik  
4. kjrhh;gpd;ik  5. FbauR  
a. 3, 2, 4, 1, 5  b. 2, 3, 4, 1, 5   c. 3, 2, 1, 4, 5  
d. 3, 1, 2, 5, 4  e. tpil njhpatpy;iy 

 
148. The recommendations of the Ashok Mehta committee on Panchayati Raj are: 

1. Creation of a two-tier system 
2. Reservation of seats for SCs and STs 
3. Compulsory powers of taxation to Panchayati Raj institutions 
4. Open participation of political parties in Panchayati Raj elections 
5. If superceded, elections must be held within one year 
a. 1, 3 and 4   b. 1, 2, 4 and 5  c. 1, 2, 3 and 4  
d. 1, 3, 4 and 5  e. Answer not known 
gQ;rhaj;J uh[; Fwpj;j mNrhf; Nkj;jh FOtpd; ghpe;Jiufs;: 
1. ,uz;lLf;F Kiw 
2. jho;j;jg;gl;l kw;Wk; goq;FbapdUf;fhd ,lxJf;fPL 
3. cs;shl;rp mikg;GfSf;F thp tpjpf;Fk; mjpfhuk;  
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4. cs;shl;rp Njh;jypy; murpay; fl;rpfspd; gq;Nfw;G 
5. cs;shl;rp mikg;Gfs; fiyf;fg;gl;lhy; Xuhz;bw;Fs; Njh;jy; elj;j Ntz;Lk; 
a. 1> 3 & 4   b. 1> 2> 4 & 5    c. 1> 2> 3 & 4  
d. 1> 3> 4 & 5  e. tpil njhpatpy;iy 
 

149. The cases relating to preamble are  
1. Berubari Union case, 1960. 
2. Shankari Prasad case, 1951. 
3. Keshavananda Bharathi case, 1973. 
4. LIC of India case, 1995. 
a. All are correct  b. 1, 2, 3 are correct   c. 2, 3, 4 are correct 
d. 1, 3, 4 are correct  e. Answer not known 
Kfg;Giu njhlh;ghd tof;Ffs;. 
1. ngUghhp a+dpad; tof;F> 1960  2. rq;fhp gpurhj; tof;F> 1951 
3. Nfrtde;j ghujp tof;F> 1973  4. LIC M/g; ,e;jpah tof;F> 1995 
a. midj;Jk; rhp   b. 1> 2> 3 rhp    c. 2> 3> 4 rhp  
d. 1> 3> 4 rhp   e. tpil njhpatpy;iy  

 
150. Match the following 

A. Art 1  1. Power to admit new states. 
B. Art 2  2. Laws under Art 2, 3 not constitutional amendments. 
C. Art 3  3. Alter boundaries of states. 
D. Art 4  4. India is a union of states. 

A B C D 
a. 4 1 3 2 
b. 3 2 1 4 
c. 2 1 3 4 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf. 
A. ~uj;J 1  1. Gjpa khepyq;fis mDkjpf;Fk; mjpfhuk;    

B. ~uj;J 2  2. ~uj;J 2> 3 d; fPo; cs;s rl;lq;fs; murpayikg;G  
jpUj;jq;fs; my;y 

C. ~uj;J 3  3. khepyq;fspd; vy;iyfis khw;Wjy;   
D. ~uj;J 4  4. ,e;jpah khepyq;fspd; xd;wpak;. 

A B C D 
a. 4 1 3 2 
b. 3 2 1 4 
c. 2 1 3 4 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
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